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(a) State the rules regarding a minor’s agreements.

(b) A sells his grocery business including goodwill to B {
a sum of Rs. 5,00,000. It is agreed that A is not to op
another grocery store in the whole of India for the ne
10 years. A opens another store in the s

ame city ty
years later. What are the rights of A.

(¢

OR
(a) Explain the different types of Quasi Contractu
Obligations. (¢

(b) A, who is trying to sell an unsound horse, forges
veterinary surgeon’s certificate stating that the horse:
sound and pins it on the stable door. B comes to examir.

the horse but the certificate goes unnoticed by him, K

greement under the ple, that he

has beep defrauded, Will he succeed ?
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state exceptions to it. ﬁ

OR i

(a) Differentiate between contract of Indemnity and contrac
of Guarantee.

(b) State briefly the rules regarding passing of property fronj#

the seller to the buyer in a contract for the sale o
goods. (6

P.T.O?
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(a) Distinguish between company and LLP. o

(b) Write down the provisions regarding taxation of LL
under LLP Act 2008. - (6)

OR

2o % (a) State the
N procedure for conversion ip fir?
e i of a Partnership fi
)

(b) Writ
Ite a note on the declaration of solvency of LLP

| (6)
(%) 5% o L ¥ st g
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(@) [Lp SR 2008 @ wa LLP & FTUR F W K
Ee G NEC LS

Fexat
() e T & LLP ¥ Fea @ uiEar &1 I F |

(@) LLP & ®em &t Hwn w feordt fafew )

(a) Define ‘Factory’ and ‘Industrial and Other Establishment’
under the Payment of Wages Act, 1936. (6)

(b) What are the certain categories of employees to whom

the Payment of Bonus Act shall not apply ? (6)

(c) What are the objects of Payment of Gratuity Act,
19722 3)

OR
(2) Who is responsible for payment of wages ? (6)

(b) What is meant by ‘salary’ or ‘wage’ under the Payment
of Bonus Act, 1965 ? (6)

(c) What is the rate of gratuity payable to an employee
under the Payment of Gratuity Act, 1972 2 (3)

P.T.O.
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(a) What do you mean b
the sources of buy-back.

(b) The balance sheet of

97

y Buyback of shares ? Why

X Ltd. as on 31% March 2015,

as follows :— (1 A
. —
¥ Rs. Assets
, Wﬂwwm_ _MMM Redeemable 4,00,000 Investment at cost 2,00,000
Preference Shares of Rs. 100 A
h fully paid u o -
: %nooo.o*” maoﬂﬂmzn 2,40,000 Other fixed assets 16,00,000
"\ Preference Shares of Rs. 100
each ,Rs. 80 paid up
m 1,00,000,Equity shares of Rs.10 10,00,000 Cash at Bank 6,60,000
“ 1 | each fully paid up
m | Security Premium Account 50,000
m, Surplus Account 5,00,000
" " Trade payables 2,70,000 _ ,
2 | Total 24,60,000 Total 24,60,000

Both the classes of Preference shares were due !

redemption on 1-4-2015, at a premium of 5%. In on
to facilitate the redemption of preference shares !t
company decided :

(i) To sell investments at a loss of 25% on cos

(ii) To make the final call on partly called prefere!

shares. The call money was received from'

the shareholders.

(iii) To issue sufficient number of equity share
Rs. 10 each at a premium of Rs. 2 per shat’

_
“
|

were necessary to provide for redemption of ¥

the classes of preference shares which ooz_%
otherwise be redeemed. The issue was f
subscribed and al] the money received.




)7

Pass journal entries (with narrations) to record the above §
transactions.

(a) What are the provisions of Companies Act 2013 regarding
the utilization of Securities Premium Account ? (3)

(b) Give journal entrieg regarding forfeiture and re-issue of §
shares in the following cases

(1)

(i)

(iii)

3

OR

(3x4=12) |

A Ltd forfeited 100 shares of Rs. 50 each, Rs. 35 |
per shares called up, on which Rs. 25 per shares
has been paid by Rakesh, the amount of first call §
of Rs. 10 per shares being unpaid. The directors i
re-issued the forfeited shares to Mahesh crediting §

Rs. 35 per share, paid for a payment of Rs. 25 (
per share,

B Ltd forfeited 200 shares of Rs. 100 each §
(issued at a premium of 10%), for non-payment 1
of first call of Rs.25 and final call of Rs. 15. §
Out of these 150 shares were re-issued as fully |
paid-up for Rs. 90 per share.

C Ltd forfeited 300 shares of Mr. X who had |
applied for 500 shares on account of non-payment !
of allotment money Rs.5 (including premium §

Rs. 2) and first call of Rs. 2. Only Rs. 3 per share |

Was received with application. Oyt of these 200 !
shares were re-issued to Mr. Y as fully paid |
shares for Rs. 8 per share,
P.T.O.
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(i) © for ¥ 100 3w 5O WAF, T35 WA A, T W 225
e 3w ST B} A A, geel wiq W 20 e T
%35 wfa 3w, T25 Wiy 3w Ry

(i) =t fer 200 3w WA= 00 (MFTT 10% R ), 75
Wit 725 qUT AR Hid A5 A | AKX 4 150 T
e TR ol wesr 290 wiy siwm o R
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Explain the meaning and accounting treatment i
balance sheet for debentures issued as a colla

security.

BRI R

1

On 1.4.2013 a company issued 15% debentures of =
10,00,000 at par. The debentures were (redeemabl-?
par after three years on 31.3.2016. A sinking f’g
was set to raise funds for redemption of debentui

. .o
The amount for the purpose was invested in~

Government securities of Rs. 100 each available at;
The sinking fund table shows that if investments ¢
6% per annum, to get Rs. 1 at the end of 3 year,

has to invest Rs. 0.31411 every year together ¥
interest that will be earned.

On 31.3.2016 aJ] Government securities were sold’
total loss of Rs. 6,000 and the debentures ¥

redeemed at par. Company closes its books of acct”
cvery year on 31 March.

Prepare 159, Debentur

€s Account, Sinking f
Account and Sinkin ’ :
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OR

00 3 The following is the Trial Balance of MCN Ltd. as at 31°
SEX 1' March 2015. (15)
Particulars Debit Balances(Rs.) Credit Balances(Rs.)
Purchases and Sales i 2,45,950 _ 3,51,500

in {|Opening Stock 175,000 -
{Wages 30,000
|12t gfDiscount iy 3,010
Salaries 10,570 e
Sundry Expenses(including rent) 10,000 -
_Equity Share Capital ‘ — ' 1,00,000
Surplus in Statement of Profit and Loss Account S 6,000
Of RGeneral Reserve ' ' — 15,500
Plant and Machinery 29,000 -
able[Fumiture and {ittings 17,000 -
g f Patents and Trademarks 4,800 - ]
u*Trade Debtors and Creditors | 26,990 17,500
nturgBills Receivable and Bills Payables 5,000 7,000
. JCashatBank . 46,200 =
1n & Total _ _ 5,00,510 5.00,510_
at pi : :
| ! Additional information :
S edl
T, 04 (a) The Closing Stock was valued at Rs. 88,000.
wil
(b) Depreciation is to be charged on plant and machinery
: @ 15%; furniture and fittings @ 10% and Patents and
a
d Trade Marks @ 5%.
wer| |
out (c) Outstanding expense on 315t March 2015 were: wages
| Rs. 5,000, Salary Rs. 2,000 and Rent Rs. 1,000.
d : ..
Fuﬂ; (d) The Directors recommended a dividend @ 20% p.a.
¢
(12)‘5 (e) Provide for Corporate Dividend Tax @ 10%.

P.T.O.
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9%
(f) Make provision for Income Tax @ 50%.

Prepare Profit and loss account statement for the year ¢, -
31" March 2015 and the Balance sheet as per revj
Schedule III of the Companies Act 2013 as on that ¢
(including notes to accounts).

o

(i) FEET- ¥ F-7R T T T o 3R - |
RIS qRET W W R | |

(i) 1-4-20138 =t v = I 15% HwOU-T FH L
310,00,000 W & | FOra 31-3-2016 =t S 9§
sﬁmmﬁma\wmmmlm—ﬁ%sﬁm%ﬁw
fafhT =y (Sinking Fund) wnfie == o1 | 70 S3wg 2|
6% BN Tifadt 2100 W Ifere JHhe A R Iew
R v Rt 75 T 2 6% Wt a§ T @ f

1A T R 3 W, vE R RS 30.3141 iy ¥ &
9 |

31-3-2016 ﬁwwﬂmw 36,000 = TR
LRI ﬁm-ﬁwsﬁmﬁ%wmﬁwuﬁ
stati:uwﬁa%m%mma?m%l

T @, R s IR RifFT v 0
mﬁ?ﬁ%ﬁ?m-a-zow%a‘aw@ml

STqar
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31 W 2015 W MCN ¥ & gewe BT waR 2 -

.

ARk Dr 399 | Cr ¥w
& @
7 3k Raa 2,45,950 | 351500
TR W OARNE Ay 75,000 —j
ol 30,000 -
= - 3010
E— 10,570 -
Rty =@ (R wffm) 10,000 )
R - | 100000
TN SR B E X sy - 6,000
T IR Ry - 15,500
W 3R Ay 29,000 -
FR 3R Rl 17,000 s
R IR e 4,800 -
AMRE TR qA IqeR 26,900 17,500
T R sk 2 R 5000 | 7000
& ¥ w5 q 46,200 o
k3l | 5,00,510 5,60,510
HRE Ty

P.T.O.



97

10

|9

(W) Paae s o WA ® @50 WA ok Ry,
@0% T WK MR Jwwwl @5% W R

()

AR o 0,000

(%)

(¥) TRl wwiw &R g[asE (@10% |

(F) SR ® R wmum = @50% |

Rl ¥ www & Rwle & @20% wiead |

31 WH 2015 W CHW NI A JGAGY 6,000, AT

31 R 2015 & g aw IR w1 @ Rwer =7 qw =+
FfRgw 2013 & INNT FTER 1 F FTER Fqe-T-99 9%

merger as per AS-14.

(1) State the conditions for amalgamation in the nature

p—

(1) The following are the Balance Sheets of P. Ltd &

V. Ltd. as at 318 March 2015 (I

L [PLidRs) | VLW(Rs) [ Assets PL(Rs) | VL&

Equity share capital (shares of | 9,00,000 |3.00.000 | Plant & 5,00,000 | 1,00%
Rs.10 each) . | __| Machinery

12%Preference Share Capital | 5,00,000 | 1,00,000 | Other Fixed | 5,00,000 | 1,000

of Rs.100 each Assets ‘

Reserves and Surplus 50,000 | 62,000 | Stock-in -rade | 1.40,000 | 7205

Trade Creditors 40,000 120,000 | Trade Debtors | 1,95,000 | ﬂ%ﬁ

. Cash at Bank | 1,65,000 | 90.7%

15,00,000 | 482,000 15,00,000 | 4.82°
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Additional Information :

On the above mentioned date P Ltd. takes over V.
Ltd on the following terms -

(a) Plant and Machinery, Other fixed Assets
stock of V Ltd. were respectivel

Yy valued atf
Rs. 90,000, Rs. 40,000 and Rs. 80,000

respectively.

(b) Issue 15% Preference Shares of Rs. 100 each to

discharge the Preference Shareholders of V Ltd i
at 10% premium.

(c) Rs. 65,000 paid in cash to the Equity Shareholders
of V Ltd.

7 -;;.'_I[](‘t‘

(d) Remaining amount of purchase consideration was3 -

discharged by issue of €quity shares of Rs. 10
cach at Rs.15 per share.

You are required to :

, Preference Shareholders Account and §
Equity Shareholders Account.

II. Pass the necessary journal entries in the books|

of P Ltd. Assuming amalgamation was in the f
nature of purchase,.
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OR

The following is the Balance

March 2015

Ln“\ mcs L_U\H X
96,000, }:qum shares of Rs.S each, full\ \ 480,000
E“‘,\“.L RS — O
12,000, 6% Preference Share Capital of 3. 1.20,000
Rs.10 cach, fully paidup 1
39,Debentures R A
Profit and Loss Account(Dr. Bal Bal\ - LL‘L 400\_ -
wlrace '\\\*a.b‘t\ ) 1 30000
1169600

The company had accumulate

follow
by the court:

|
e S S

[Assets
Plant & Machmcr)

" Land and Building

‘ (vm\d\ull

| Imdc Rcccwnhlc« |l

e lm cntoncx
1 C mh at Bank

ing scheme of reconstruction is framed and appro

f“_l‘l 69,

Q

Sheet of H. Ltd as at.

(;

1 \Rxl
3,600
3,840
Lf.%_&.

0
8%
64,0
),600

b bt |

d a lot of losses therefl

(a) The Preference Shares to be reduced to Rs.5 cac’:l_f

Y

(b) The Equity Shares to be reduced to Rs. 1 each. ¢

af

(¢) Trade payables to accept 6% debentures to the ¢¥_

of 50% of their claim, the balance to be paid (T

internal reconstruction) within six months.

(d) Land and Building and Plant and Machinery were ¢
valued by Rs. 64,000 and Rs. 88,000 respectively

(e) A provision for doubtful debts to the extent of RS- b

'

was necessary.
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(f) Write off Goodwill and Profit and Loss Account
completely.

Pass journal entries and prepare Balance Sheet as at

1.04.2015 (after reconstruction) as per Schedule III of
Companies Act 2013,

(i) AS-14 % IFER HerarT ( amalgamation) 8g fa@@ (Merger)

@ VA A TS wqR |

() 313 2015 ®F P X 3k VR D W w3 T

- P for VAGER K iisc) P far Vi
) ® | © ® | ©
il | 7T I 5,00,000 | 1,00,000
0 %) 9,00,000(3,00,000 |#¥itd

%o FRMH S I A
' 2100 5% | 5,00,000 1,00,000 | &t 5,00,000 | 1,00,000
o 7 sfma|  60,000| 62,000 |emw ¥ ®® | 1,40,000| 72,000
T HRed 40,000 20,000 [=MR 1,95,000 | 120,000
- [ ¥ | 165000| 90000
B 15,00,000 {4 82 000 15,00,000 |4,82,000
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R g

o Ry @ PRV R @ R TR WS

%Z ?é

(%) @ 3R AAC, I A W 9 4 e

WY HA: e 390,000, 340,000 3R 2604

o | it

;, (@) 15% 3feme 3@ 100 m,mvﬁ.%mﬁg
‘ T 10% WEEH | 3

| (1) 65,000 V o %m AR Y SETEEr W/
N ;

LS SO T e 2

AT ¥ T T

L. V%H&WWWWWW

QI |

IL. Pf@naawefmw S il

St
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3]W'20]5@rW%‘WWWﬁwa§WW:

\

3| 3
6,000 T HA; T5 ga1 AR
T wed 4,80,000 | TG 3,60,000
000, 6% IR T R
g9 70 WA a7 3,84,000
. Wed 3,20,000
Z3E AL 1,92,000 | TRRw 2,24,000
IR T @
r 3) (1,42,400) | =mR Wy 1,28,000
o ..3,20,000 | &Y 64,000
dF ¥ T8 9,600
1,69,600 1,69,600
m%msﬁwm%ﬁmwwﬁﬁwm
W R
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(w) wﬁaﬂtwwmaﬁtwﬁqﬁaﬁwm%
3R 288,000 FAM A |

(¥) @ =W & foU U WA 38,000 Ew@E oA |

(%) WWWWWWWWWQ

Ao WAl T 14,2015 (AR & WG ) A T iy

2013 H FER FHEA I oge 99 T |

!
!4
{

i I

From the following information prepare Cash flow staten
per AS-3 (revised)

Asat Asal Assets Asat | Asa
51-3-2014 | 31-3-2015 51-3-2014 (3134
(Rs.) (Rs.) . , (Rs) (Rs)
| Equity share Capital | 3,00,000 | 3,50,000 Tangible Assets 5,10,000 6,200
- | 10% Preference 2,00,000 1,00,000 - Intangible - 8,000
| Shares Assets(Goodwill)
| Reserves and Surplus | 1,10,000 2,70,000 Investments 30,000 80,00
" | 10% Debentures 1,00,000 | 2,00,000 Inventories 1,00,000 1,970
{ Current Liabilities 80,000 1,60,000 | Trade Receivables 1,00,000 L,OQ“;_
' ' Discount on issue of | 10,000 50003
f Debentures z
% : . )
: Cash at Bank 40,000 | 700
7,90,000  110,80,000 790,000 | 108
r
. I
Additional Information : r

(a) The assets of another: company were purchased
Rs. 50,000 payable in fully paid shares of con’
These assets consisted of stock Rs. 22,000, mac
Rs. 20,000 and Goodwill Rs. 8,000.

Yy
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(b) Depreciation charged on tangible fixed assets during
2014-15 was Rs. 60,000. During the year a machine
with book value of Rs. 40,000 was also sold for
Rs. 25,000._

(c) Preference shares were redeemed at a premium of 10%
on 31-03-2015.

(d) Debentures worth Rs. 1,00,000 were issued on 31-03-

(e) 10% dividend (on equity and preference shares) and 10%
interest on debentures was paid (for the year 2013-14)
during 2014-15.

From the following information prepare Cash flow statements

per AS-3 (revised) of PQR Ltd. (15)
,000 Fiabilities As at As at Assets As at As at
31-3-2014 | 31-3-2015 31-3-2014 | 31-3-2015
. s (Rs) Rs) _ |(Rs)
00 fauity share Capital 10,00,000 | 10,00,000 Fixed Assets 12,40,000 14,50,000
%ﬂl Reserve 12,000 (Depreciation) 3,00,000) | (2,86,000)
e:}eral Reserves 3,50,000 4,00,000 Balance 9,40,000 11,64,000
il /;_ Debentures 2,80,000 | 2,10,000 Investments 3,80,000 3,00,000
, 3“ and Loss 1,60,000 | 2,00,000 Sundry Current 10,80,000 | 12,10,000
80, 5Palance Assets
:d.e P'; Eklgs 445,000 16,26,000 Cash at Bank —
osec Dividend  [1,00,000 | 1,26,000 Share issue expenses | 50,000 40,000
ovision for Taxation | 1,15,000 | 1,40,000
——— [24,50,000_[27,14,000 124,50,000 | 27,14,000
i Additiona] Information : 1
i gf\ a) Duri |
Hi (2) During the year company redeemed 25% of the |

Debentures at Rs. 105,

P.T.O.
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(b) Debenture Int

18

during the year.

(c) Income —

erest amounting to Rs. 30,000 wag

ko

97

b

Tax Rs. 95,000 was paid during the yey,

(d) Some investments Were sold during the year at a py
of Rs. 12,000 and the profit was credited to cap

reserve.

(e) Some ba
Rs. 33,000: cost of which were Rs.

depreciation provided on them Rs. 1,39,000.

dly damaged fixed assets were sold for

2,20,000 ;

frfefad a1 ¥ e TaE AS-3 (@hfere) fawor dan i

31-3-2014 | 31-3-2015 | 3nfeaa 31-3-2014 | 31-3-
R ] ] L'
() (%) ) {

ok T
ARGl 3,00,000{ 3,50,000 | EFfcwal 5,10,000 | 6,20f
Sﬁ\w@_ﬂ4 . | FgmT T

I 2,00,000| 1,00,000 | wwfew
(xefe) | u

LG ,,

s 1,10,000| 2,70,000 | fafa@r 30,000 | &
10% HI 1,00,000| 2,00,000 | &Y 100,000 19%
FHA AR 80,000| 1,60,000 | =R ¥ W= | 1,00,000 1
A W gg| 10,000 0
So G qea | ao0000] ¥
7,90,000/10,80,000 N,oo.o.&‘é
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grfaften 941

(%) zad FEA i qerfaal 750 gop F T F T oweS = gk
wed W | A Al A wwey 722 000, FE=9 320 000 =

T3fe 28000 |

(@) 2014-15 B X gem Fefad w e @ 260 000 =8

&%ﬁmﬁﬂﬂﬂ%ﬂ?boboo%wﬂﬂ
?25,000 |

(W) e S = Mo 109 GiEag fFar = 31-3-2015
|

() 31-3-2015 R w=omT W A w 31,00,000 |

(%) 10% amig (T AR afom st w) sk 100,
204-15 (2013-14 & ) frar w7 |

~-
2793 G

ATQr

R e 2 PQR 1 &1 AS3 (Ffm) & sEr w2
TATE e ey

T T
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e 31-3-2014 | 31-3-2015 | sl 31-3-2014 [
W ki g W q;
(?) (?) (?) h
T AT Wt
ot 10,00,000 | 10,00,000 | ®f  {12,40 000 g,
TR R - | 12000 | (PRee) {00 000)( T
T IR | 3,50,000 | 4,00,000 | 3 9,40,000 | 15
2% = | 260,000 | 2,000 [RB@T | 380 000 "
H W 1,860,000 | 200,000 | @ |10,80,000 | 12
R 2 4,45,000 | 6,26,000 3% ¥ 77 -
TR F | 1,00,000 | 126,000 | 77 o0 =
¥ wd 50,000 4
U 2 Ry | -
FICD It 115,000 | 1,40,000
24,50,000 | 27,14,000 24,50,000 | 273
iaRe AT

(%) ﬁ%%wﬁmﬁwzs%ﬁmmms

(@) ol W= 30,000 A R e R e

(1) S R 395,000 9§ & IR A [

(7) %o fafam af @ e wm W 3 a2 000 K A
ftod % #Re forar m |
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(¥) T W TE® sforree v et &Y ST shad 233,000 W
@@t anTE 2,20,000 o 3R PEEe & wEwE R wn
71,39,000 |

Attempt any three of the following : (3x5=15)

(a) (i) A Ltd has a current ratio of 4:1 and it’s liquidity
ratio is 3:1 .If the inventory is 30,000 find out the

value of current liabilities ,current assets and liquid
assets, and

(ii) Calculate opening stock and closing stock if:

Stock turnover ratio: 5 times
Cost of goods sold: Rs. 1,50,000

Closing stock was more by Rs. 4,000 than Opening
stock.

(b) From the -following information related to ABC Ltd.
calculate for equity share :

(1) Earnings per share

(i) Price -earning

Given: Equity share capital : Rs. 30,00,000 (30,000 equity
shares of Rs. 100 each), 10% Preference Share Capital :

Rs. 10,00,000 (1,00,000 Preference shares of Rs. 10 each)

Profits before tax and preference dividend:

Rs. 20,00,000. Tax rate 35%. Market price of ABC
Ltd’s one equity share Rs. 160.

P.T.O.




¥

(¢) X Ltd. has carnings before tax Rs. 15,00,000. ItsQ 7
structure consists of 30,000 preference shares 0f
each. 6,00.000 equity shares of Rs. 10 each andl
10% debentures of Rs. 100 each. Calculat

0497 22

following :
(1) Debt- equity ratio
(i1) Return on capital employed (ROI).
(d) A company sell its products on cash as well as g

The following relevant information has been exty
from the books:

Details Rs. .|. Details N
“Total Oross Sales | 1,00,000 | Total Debtorsason [
- 31.03.2015 |
Cash Sales 20,000 Bill Receivables as on B
| 31.03.2015
' Sales Return 7,000 Provision for Doubtful | |
Debts as on 31.03.2015

Calculate Average Collection Period (year of 365

(e) Compute the amount of gross profit and sales if o
stock is Rs. 60,000, closing stock is Rs. 1,00,000,§
turnover is 8 times, Goods are sold at a profit of
on sales.

(f) State the objectives and method of computation!
following two ratios :

(i) Interest Coverage Ratio
(ii) Acid Test Ratio
(iii) Operating Profit Ratio

(iv) Debtors Turnover Ratio.

4
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@) () AN = I sqew 4w 2 T TN S
| 3:1%1?&@?30.000@%%%%,@

) =9 T TR sk s A @
R

R‘T‘a;waraa‘agwazsw

~

T HifSre

%%n'&wmaﬁama: 150,000
mmaﬁ#:ﬁqmm% 34,000 T o7
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(1) FHA-wwa 3T (Det-equity Ratio)
(i) @i g ® A& (ROI)

(9) T A AED AR OIUR FO IR w Ay
T @ Frafafes wifie g@en squo @ 3 )

@R 2| =
T T BB 1100000 | 31-3- 2015 Y
FE WH
T fah 20,000 | 31-3-15 3
. s g
fawa 7000 | 31-3-15 W yum
U WrAaTS

(%) RAREILEL LI (80 R
aﬁwmﬁuh,oo,ooo,mﬁmuqm?ﬁ

m%ﬁaﬁtho%mm

(%) Wﬁlﬁﬂﬁ&aﬁmaﬂquﬁ)w
(u)Mﬁtmaam(

(1) W AN s

Acid Test Ratio)

s i - | )
(1v) 3T woared FIIF (Debtor Tunover Rate
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. Derive the aggregate demand curve using incomc-ex%
]

approach ? what happens to aggregate demand N
response to a rise in the autonomous investment and Zove,

spending ?

ﬁﬁ—mmmmmgmmw@%
e PR v R & A 3 B aifea @ wmw o
WER IRaST ot B 7

2. (a) Show in a diagram the following :
(1) Actual GDP 1s above potential GDP
(it) Actual GDP is below potential GDP
(%) e = wom ¥ e

(i) TS FHd W IR TWRA T W'
T 2

(i) T Tohet Wl IAE TR Tl -1

w2

(b) How would we use fiscal policy to correct sl

above situations ?

(=) e T Rt e ¥ T Y
YER WA Rt 7
w
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3. Explain how commercial banks create credit ? Are

any limits to credit creation ? Explain.

afiieas 4 W Yo e YER A § 7 R AR GoT o
d ¥ 7 = FIRw |

4. What is money ? Discuss the functions and importanc
money.

TR YA D S (F Ao & qT Y |

5. Giving following data for an economy :

Consumption function C = 100 Crore + 0.6
Investment I =500 Cr.
Government expenditure G = 400 Cr. |
Taxes T = 200 Cr.
;,
Export X =300 Cr.
Import M = 100 Cr.

Calculate the following from above,

(a) Equilibrium level of national income in the econo




L

s
(b) Consumption and saving at equilibrium levg 9
income.

o

ﬁt

(¢) Equilibrium leve] of national inc

Ome when tax Teve,
decreases by Rs. 60 crore.

(13,
“-wavsmwamﬁwwaw@%;

ST e C=100?F?(3+0.6Yd
i I =Rs. 500 T
| TR =g G =Rs. 400 =
1
| T T =Rs. 200 w1
P X =Rs. 300 =g
HrT M =Rs. 100 =¥ )

%m&ﬁ%mwﬁnaﬁmaﬁm,

(=) Mmam?fn@ummmw

(@) m%mmwmam

(31) T AT 60 AT A e} ww ww ww WA
ik



08 5

[llustrate the circular flow of income in a four sector econom:

with the help of diagram. (15

YafE # G ¥ UK &R sfeen ¥ 3@ R aw e ©
SRl T |

Derive IS - LM curves. Explain how shift in IS curve affect:

rate of interest and GDP ? (8,7)

IS T LM Wl S e R 1 1S -wh F Rl wed

IAE VG AW W R R wER gl s @ 2

Write short notes on any two of the following :

(a) Investment multiplier

(b) Automatic stabilizers

[(¢) Fisher’s quantity theory of money

(d) Determinants of MPC (74,7%)
¥ el @ W e Rorht =

(%) Paw o

(=) e o TR
P.T.Oj
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I.  (a) Under the Indian contract act, “there are certajp &
L

resembling those created by a contract”. ExPlain

¢

examples.

(b) Ramesh, a shopkeeper supplies clothes and My

for the younger brother and ailing mother of Sy

. who is lunatic. Can the shopkeeper sue Surindt
recovery of amount in respect of the above comny,

Explain.

OR

(a) Explain the principle of ‘no consideration, no co

Are there any exceptions to it? Elaborate.

(b) Write a note on agreements expressly declared

void.

(%) wRAg e FRfa & JiE, ‘Ho W W ik
¥ I g F17 IO AR ol i

() T, T THAER S DR WE A T o e A
A R A I R N gl e 1w @
RN A R TN D freg @ T aw g 27

AT

o ‘I‘J#;i
T R or P S
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855

(ﬁ)‘ﬁmqﬁ,ﬁmqﬁ’mwmlwm
£i5 svar ¥ R @i

(@) oo W & s At T W vw Raw fr |

(a) State the doctrine of Caveat Emptor? Are there any
exceptions to the rule. Explain. (10)

(b) Ram agrees to sell a new fridge to Shyam for
Rs. 25,000/- payable partly in cash and partly in

!
exchange of old fridge. Is it a valid contract? (5)

OR

(a) “A seller cannot convey a better title to the buyer thar

he himself has”. Do you agree? Explain with examples

(10]

(b) Amit agreed to sell one thousand bags of rice to Vimal

Before he could deliver them; the Governmen

Iequisitioned the entire Quantity of rice in public interes

Can Vimal file a suit against. Amit for non performanc
of the contract? (2

%mmﬁm%ﬁaﬁawaﬁqaﬂﬁmwwﬁ?ﬁim
# i B

(%)

P.T.
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(%)

e I F 1000 I AT T ST Iy 4
m)aﬁ;waﬁ@;m%mmmf?a% ‘
:mnwmm%mmwm? (
W & - w57

(2) What is meant by ‘Designated partners’? Discu:

provisions of LLp Act. 2008 regarding appointme:
eligibility conditions for ¢

he appointment of Desi
Partners.

(b) State the contentg of incorporation document 0!
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>

(h) Discuss the Process

ob converston from private compan

in to LLP. (10)

() ‘qoAE A (Designated Partners) ¥ = s ®7
T W ) P A g g ®) LLp siferfay,
2008 & TAUA W aofr oo

(@) LLP & Bl awaisr ot fawgeeg a1 oo R

o
1
|
]
f
!

HYyan

(%) LLP & &0u™ & waum sl

(|) Poft w=rft ¥ LLP ¥ wRadw & whrar wamed

(8) What is meant by digital signature. State the procedure

of creatiop and verification of digital signature. (7)
(b) Explain t.he following terms.
(i) Private key and public key
(ii) Cyber appellate tribunal (8)

OR

(a) Write short notes on

(1) Electronic governance P.T.O




1855 6

(i) Cyber terrorism I

(b) What is the difference between cyber contra\,en )
cyber offences? Explain the meaning of Comput ns.

offences. eli

(m)ﬁmm%mw%?ﬁmmmﬁm
aﬂiﬁ%ﬁmmm%wmﬁmﬁmml

() Fe=iftae = W
a (i) ot @ sk wdofE T
(ii) TR e TrIe

SR

L]
)
i ‘

(%) &g R /Y -
(i) o= e
(ii) ¥R s

(@) W= EddEED) (Contraventions) AT ArE FH :
W%?WWﬁm%aﬁwaﬁ?'ﬁm



355
@) write the difference between any two of the following
a

(i) Coercion and undue influence

(ii) Contract of guarantee and contract of indemnity

(iii) Sale and Agreement to sell (8)

(b) How is LLP different from traditional partnership firm?
(7)

OR

(a) What is agency by ratification? Valid ratification

requires fulfillment of certain conditions. Discuss them.
(8)
(b) Under LLP act (2008), when does a partner cease to be

a partner? What is the effect of this cessation of
partnership interest? (7)

(*)ﬁ’ﬁ%ﬁaaﬁ‘%ﬁfﬁa‘r%mwaﬁmz
(i)waﬁgqaazagﬁam
(ii)mqﬁaaawﬁqﬁ

(iﬁ)ﬁaﬁﬁftﬁaﬁmm

PTO
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(@) LLP Wik @@erd w4 F FT 87
HAAT

() vort o gEmde (Ratification) =T 87 e wh
T O B UEAl 219U el

(@) LLPéffxﬁm (2008) = WW}%WWW
G WREN B & v e @ @ g A
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Part A
(W ‘=)
(Business Mathematics)

(zxawTa Tfure)

T'ime - 1 Hour Maximum Marg, -
| (@) A firm produces three products P, Q and R Which

sells in two markets. Annual sales in units are

e
below :
Market Units Sold ]
P Q R
! 8000 4000 2000
1l 7000 3000 9000

If the prices per unit of P, Q and R are 2 5, T 4 &
T 8 respectively and the costs per unit are T 3. 1-
and ¥ 4 respectively, find the total profit in each mai¥
by using matrix algebra.

(P) An amount of ¥ 5000 is put into three investme®
at the interest rate of 6%, 7% and 8% per an’
respectively. The total annual income is 2 358. If

combined income from the first two investmen® y

¥ 70 more than the income from third, find the !

.1.4'
of each investment by using matrix algebra.

. j
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(F) TF FH P 7 p ImF A1 I9E TER s

P Q R
I 8000 4000 2000
I 7000 3000 9000

e P, Q R R F1 WA g Fmd FEW:
35 %4 37 78% v wfa gfe @rd wEen:
23,22 37 T4 T, a1 ofzeg SraoE w1 99M
Fh JOF GGR H FHA oMY TG FATU

(@) 7 5,000 H1 TR FAM: 6%, 7% IR 8% Jfd o
=6 W W oA frae § s ¥ wmw
afdes s ¢ 358 o ¥ AR weR @ Fraw
9 ggF o, @R fEw & ow@ @ 2 70
afyw & A ffrem FE # wEN w1
ya% fEaw @t e @@ #ifsw




T

(©)

(d)

( 4 ) I
Or
(31eran)

In a certain city there are 25 colleges and 200 schogl,
Each school and college has 18 peons, 5 clerks ang
| cahsier. Each college, in addition, has I section offic,
and | librarian. The monthly salary of each of the,
is as follows :

Peon—3 200, Clerk—2 400, Cashier—¥ 500, Sectio
officer—¥ 600 and Librarian—3% 800, Using matrix
notation, find (i) total number of posts of each kin

in schools and colleges taken together, (if) the toz

monthly salary bill of all the schools and colleges take

together.

Mr. X has invested 5 part of his ‘investment in bon

A carrying interest of 10% and a part in bond B wi

Interest of 15%. His total interest income during fi®

year is ¥ 4000. H he invests 20% more in bond A a
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(q)ﬁ@?@wﬁzsmﬁaﬁﬂzooqy%,

()

TF A R FAS A 18 TR, 5 e
AR | R T TEw waw F o sifife
| W SRR SR | amafem ¥ e @
Y% H 90 T YER T

TRE—I 200, FTh—3 400, B2 500, Javr
AR 600 3R EIRFA_2 800 1 Ao
Wﬁmmmﬁﬁm:(n@fﬁ
AR oS B TH WY o T&E fre
F U K HA A (i) TR AR FerS Hy
TF Ay e w4t &1 @ wfes a9 faa
=t x 3 oW R &1 @ 9m 0% =
I A A’ d R 15% oI A s B
4 frafea fFar ®1 S wem ad # <RM
oS § HA I T 4000 ¥ ARG T A A
H 20% atfuss 3R afe B H 10% fusm FEW
R, AW TR AW H IR T T 500 TE
S ¥1 g o @ v W A

Bﬁﬁﬁw@aﬁ%ﬁa‘ﬂaﬂ‘{wﬁa‘"

® WA Fif

I B R NS TR

B
AR
¥,
e
§ L*
o




It

ost function is given by C = ¢+,

2 W) If the total ¢ |

& where Y s the quantity of output. show the
[ NN !

AACV & = L y(MC — AQ), where MC and AC a

marginal cost and average cost .

4182 Lme - a0
ti\'\x j X

(" A firm knows that the demand function for one of
products is linear. It also knows that it can sell 20
units when the price is ¥ 5 per unit, and it can &
1500 units when the price is ¥ 2 a unit. Determim‘i.
(/) demand function, (ii) total revenue functio

(i17) average revenue function and marginal revemn

function.

{
>

() A 7A@ A B WE B R g

~ ex? ﬁ, &“w x 3I9IeH ﬁ ST %’F
TR FOM B dACys = 1emc - AC

4fc) )

&% )77 MC-AO) i me st ac @
SULTE (S T
()T I ¥ e e e T




(c)

(d)

«C 7 ) 1856

2000 3 3 R ¥ A FW 15 5 o
%aﬁtlsooqﬁzéaﬁﬁ?ﬁ%qﬁﬁqﬁ

2 ¥ g ¥ Feif wifvT () 5 o
(i) B AT F (iii) 3TEA TS Foq i
Hio TS %o |
Or
(37eram)
For the demand curve aQ + 4P _ K = g where ¢,

b and K are positive constant. Determine the

point elasticity of demand when marginal revenue is

Z€ro.

A TV company has 1000 subscribers who are paying
¥ 100 per month. The company proposes to increase

the monthly subscription and it js believed that for every

Increase of T [, five subscribers wil] discontinue the

S€rvice. Find what increase in subscription will

yield maximum reye

nue and compute the revenue
+

also. 55

~ BTN T

-

: = . . TS -
RS R Py o $riiy o ot e SR g Nl b < 4
= ‘ﬂa. f(;.-v.‘té;‘.f e & .}:& ML e o 8t e 8

e 1

s R

=
4.
>
By
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( 8 )
I

() " oAFE aQ v P K ()?ﬁfav,hqq
. s K e T %lqﬁzﬁfai;
(%) mF TV FE F 1000 aﬁW%Gﬁzn(mg
r{m?’:z%%lafﬁmﬁﬁ'ﬂfﬂm?aﬁ%
amﬁ?%afnmmﬁ?%ﬁﬁztmﬁ%

H S oﬁmwmméﬁn sifyem 5
fmquz‘:aqﬁmnwmm?m

(@p A sum of money is deposited in a bank whi

compounds  interest semi-annually. The amount at

end of 4 years is T 6333.85 and T 8023.53 at the e

of 8 years. Find the money deposited and the inters

rate.

(h) A person borrows 7 15,000. He pays ¥ 4,000 at®

end of 6 months and ¥ 5,000 at the end of one ¥
What final payment should be made at the end of
ST

rate 15 g

years to settle the debt if interest

4

compounded continuously ?
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(F) TF T FE F o wE T Y W spiafis

(&)

()

(d)

=1 8 9F3(5 waa oo £ o4 99 3 mue

T AT T 7 633385 R 8 FH F mEIE W

? 8023.53 B FME ¥ 9 fEU U R 3R s
UF FAF 2 15000 F HI A4 21 TT 6 HE
e % 4000 X | T OFH FHME W T 5.000
Al 2@ ¥ D oA F I W o3E mW A
Fem % fau @ sifm w9 § feaw S
< B AR TFIE WS # g AR 120,
g2
Or
(379am)

Mr. A took a loan of ¥ 3.000 for 6 months. Lender
deducts ¥ 300 as interest at time of lending. Find the
effective rate of interest charged by lender.

An asset costing ¥ 2000 will depreciate to a scrap
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(m) foret A Ry

00 T .i:ﬂa ﬁ| EEUIaR” Ry amg Tﬁg mﬂ}
T3
o @ F A HAC
) e < 2000 FE SIE 10 T 5
q A
@ 3w d W R 10 F T M
Ta-89 i 3‘{ RiEEIEL]
Part B
(v ‘@)
(Business Statistics)

(g™ |ifEgeht)

Time : 2 Hours Maximum Marks: §
4, (@)  There are 50 students in a class. The average mark
of the 10 failed students are 25. The total marks secure

by the entire class is 2810. Compute the average mark

of successful Students.

()
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If the price of a commodity doubles in a period of 4
years, what 1s the average increase per year ?

() What is the difference between simple, partial and
multiple correlation ?

() What is Time Reversal test and which method satisfies

the test 25=10

B

(%) T S8 0 50 B F1,10 % v F iy
Wzs%lW$&ﬂ§mmmm78m;
SR H e Fifwa ;
(@)Wmﬁa@mﬁaﬂa,mwﬁamﬁﬂ
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{
1&“
1x

uy

.

(a) What do you understand by the term Average 9 EX%
any fhree mathematical properties of Arith”‘-&t,
mean.

(b))  The mean and standard deviation of 100 observan&
are 40 and 5.1 respectively. It was later found that o
observation was wrongly copied as 50 in place of g
Find the correct mean and standard deviation.

(F) 3o W W U F OGEE § 7 SEIR

e TR dW i faevaelt 1 aw
HITTT |

(@) nooﬁaoﬁmmwafnmﬁamm: -

3ﬁ?5.l%lmﬁWWﬁF@§W?

TR H 40 B WA R s fog for T

W'“ﬁmw@»ﬁtwﬁ?«mmm
Or

(reram)
(¢) Th
€ annual growth rate of sales of a comp®

for |
> YOS are S% 750, 5500 505 and I



(13 ) 1856 §

) We are given the following data :
(¢ =

Class Interval Frequency
1014 5
1519 10
20—24 15
25-29 20
30--34 10
35--39 5
Total 65
Compute

() The value of middle 50% items, and
(if)  The value of exactly 50% item. 4,6

) FE e w  f w a gtg
B 5%, 7.5%, 2.5%. 59 iR 10% B o

FET AT Tt
LU c
10—14 S
1519 10

PTO



A’

( 14 )
20--24 15
25-29 %
30--34 10
35--39 5
e 65

() WA F 50% IzE W gem, qe

(i) WA S0% S W )

(@) Explain the Scatter diagram method.

(b)

The following results of capital employed and profi

earned by the firm in 10 successive years are -

Mean Standad Deviation
Capital employed (3°000) 55 28.7
Profit earned (2°000) 13 8.5
I
Coefficient of correlation 0.96
I
Calculate -
(/)

The two regression equations,

g i
(i) The amount of profit to be earned if ¢

employed- is ¥ 50,000, and

° e 1 ro{‘
(iif) The amount of capital to pe employed ity

earned s ¥ 20,000.



T

( 5 185¢

(m)@awi‘@faﬁxaﬁmaﬁﬁm
(@)@Tﬁﬁmlomaﬁﬁmr@ﬁ
IR affa @9 & uftomm Frfafee T .
uem OHes fages

@ MO9S (2°000) 55 28.7
AT A9 (2°000) 13 8.5
T gedey HMIED 0.96

() X HHISEO G,

(ii) Hﬁ'mﬁ{ﬁ?soom%?ﬁaﬁhm
il

Giy afg aAfSa ey 2 20,000 g, W wmE T
gst w5t ufdn ;
Or '

(3rgra)

data given below -

() Compute Karl Pearson’s corrrelation coefficient from the g

5
%

X

45

55

8 8 8|

56

P.T.O.
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(16 ) "
58 o)
o) 062 /‘
65 (4%
08 65
0 70
IA o
80 0
85 %
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T w s Wiy
X Y
45 56
55 %
- 48
58 60
00- 0
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o 0
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(@) Define time series and also explain its components,

() Draw a graph to represent the tfollowing data showing

the number of students in a college 55
Year No. of Students
2008 705
2009 685
2010 703
2011 687
2012 705
2013 ‘ 689
2014 715
2015 685
2016 725
2017 730

(F) 9H9 JEen & oRuw v R TE wew
R = FfA
(@) & Flaw H BEI w1 G& W YERld #w
gu Ffafea sffwsi = Wil & & fou
W@ﬁfﬁiﬂl:
as BET W W&

2008 705

2009 685
P.T.O.




(@) T4 qfen w1 FAE i o rhis @
S gEEE ¥ qfen # AR %
or 5. NO
(3@ ynia”
(¢) Compute by suitable method the quantity inde; Nameo
Nam®

e data given below :

from th

—_— ———
2016 2017 gemest’

Commodities g

Price Total Value Price Tota gad

A 8 80 10 (7@ 977
B 10 90 12 1. <
C 16 256 20 3 2 7
(m) freAfarEd stel @ AT AR E B
sygea fafa s sfirReE  HISIT 0 f

/
2016 2017 4, f

T Had

aEq wAa g HiAd & (

A 8 80 10 |

B 10 90 12 i

C 16 256 4

20
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(a) Define investment. Explain 4

dvantage,
of investment.

(b) “Stock exchanges play ap

Securities Market”. Discuss the Statement

OR

(c) Describe Various sourceg of collecting

ny.

fi
information about the compa

is company Analygi<o ﬁ
2. (a) What . p . Ysiss Xplajp, variogs ff
and non-financial factorg co Side, j y

e TP

analysis of a company. While ¢

OD



1

(b) Two securities A and B have been shortlisted by an
investor. The expected rates of return and probabilities

are as follows:

B Security A Security B
Return (%) Probability | Return (%) | Probability
20 0.25 80 0.10
10 0.40 40 0.30
0 0.25 10 0.40
-10 0.10 -20 0.20

Find out expected return and risk (Standard Deviation)

for both the securities. Which security should be |

preferred? (10) |

(¢) Explain market order and limit order for buying and 5

selling of securities in secondary market, (5) |

) TR R w27 v aed @ A dare § ‘
mﬂﬁ?ﬂ?-ﬁﬁnmﬁmmml

HqYyan

PT.O |




-3
P A o B p
9:‘
=) oF FAaET ga @ gfersgferat A R B3 | 3, R
m"f;sﬁ:fﬂﬁ%aﬁ%l )
— EeE N
gfenga A afeif B
ard@ (%) Fareadn agd@ (%) | T
20 0.25 80 0.10
10 0.40 40 0.30
n 0 0.25 10 0.40
’ -10 0.10 -20 0.20
o AR S (e

(Market Order) =41 &= g2 (Limit Order
o
3 (a) Explain, how the development of Mutual Fund”
took place in India?
(3

; (!
(b) Following information is available 11 resp’
(%

Mutual Fund:

4



s e

B Amount
particulars

(in Rupees)

Cash and Bank Balance 5,50,002
Bonds & Debentures (Listed) 7,00,000
Equity Shares (éurrent Mkt. Value) 12,50,000
Value of Govt. Securities 10,05,000
Accrued Expenses | 75,00&
Accrued Income | 70,000
No. of units outstanding 2,00,000
Find out the Net Asset Value per unit of 'z MutuaT
Fund. 7 ;

OR

usefu] tq investors?

3) |
(

d . " . ;
) Explain different participants in the Derivatives market.

(7) |
ﬁm%mwﬁmﬁgw?‘
Zﬁm“ﬁ'ﬁm%‘ﬁwwméz ‘

%) i o e ¥
(w)

P.TO |
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IAAA B 7 H
€ 99T Jeqie=
i FIf!
3r2rar

(1) CRISIL # wgom wea =8
wm%%.w@a%ai&rwwﬁuﬂﬂr%

(a) =ga&x  (Derivativ
€S) IR ¥ fafrsy
) e ¥

4. (a) Explain.

(i) Growth Funds and Balanced F
Ungg



: ol %

7
51 ik
(if) Load and No load Funds (8) § ‘
) What do you mean by charting? Describe ip brief any i !

two commonly used charts.

(7) |
OR |

(c) What do you mean by financial intermediaries? Explain |
their role in primary and Secondary markets, (8) o

(d) What are different types of financial derivatives? !
Explain. (7 &
(%) =t it |

() ahrafe e sk wafr @
(ii) #R 3 & sRe =y

@) =g (Charting) ¥ stosr = I 2?7 wag ¥ f'

I g eE (Charts) &1 i A,
IAar |

WW%W:ZWW‘Q?WaﬂIWV
TR R s w oA i

(q)ﬁ%ﬂﬁqwﬁ%wwwm%?mhmm '

{

(x)

1
{ i

Write short notes on any three of the following: (15) ;3 |
(a) Risk-return trade off |

i |
i P.T.O.
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L

(b) IPO and FPO

(c) Systematic investment Plan and Systematje y, 3

Plan | J
(d) Investment and Speculation {

FRRE ¥ ¥ Bl e W ey Rt i
(%) MR- w0 ¥ i ;l
(®) IPO & FpO

N
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1. (a) What is meant by cost accoyps:

ting 9 )3
. *LX la'
of cost accounting, Plaip the,

(b) The following data Pertains tq Mater,, 2.
Supply period: 4 to 8 months

Consumption rate

Maximum: 600 units per month
Minimum: 100 units per month
Normal: 300 units per month

Yearly: 3,600 units

Storage costs are 50% of stock value and the o

Costs are Rs. 400 per or

der. Price per unit of
Rs. 64

Compute

(i) Reorder leve]
(ii) Minimum Stock Jeyeg
(iii) Maximum stock leve]
(iv) Average stock leve]
OR

. in brief the Concept o ,
(a) Explain f Cogy unit and’
center.



(b) Prepare store ledger account on the basis of LIFQ ap
weighted average method for the month of April

April

1 Balance

2 Purchase
;i Issued

6 Purchased
11 Issued

19 Issued

22 Purchased
2I7 Issued

Units
300
200
150
200
150
200
200
250

Rate
2
2.20

2.30

2.40
(10).

(%) AR AR @ mwwﬁ%?mﬁw%m

T IRAT T |

(@) P i T Z ¥ i E

qg Jrafer
WA

64 ¥ T

4 ¥ 8 WE
;. Hferhe
: 100 T Wi qE
: 300 gHe wid wE
. 3600 gHT

WRY AN 'R ® qed @ 50% B AR W Wel @l
WG 400 ® WA smew €1 RN @ Uw giie @ Eed |

B2kl

N

R
EUSED

|

;

600 IfHe wid w1 ‘g
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FFaT PIOT
(i) T H&T F R

(i) —aAqH WiHh &R

(ii) FrFTT Wih TR

(iv) 3ied wid &R
2ar

(%) @&T X aFe gfe 3R aRra Ba F dEIT
HITY |

(|) LIFO & smur w sk sy siew AR & 7
TE T MR W dew axar daR T

e
e "
1 Iy
300 2
2 LCLIET
200
4 T e 2.20
150
6 Qe
200
11 S W e 1 2.30
50
19 ICUNC TS 26
0
22 @dar 200



(a) What do you mean by labor turnover ? g
a
causes of labor turnover,

(b) Following information jg given b

2016 |
Material used Rs. 50,000

Direct wages Rs. 40,000 |
Overheads Rs. 30,000

Labor hours worked 30,000

Machine hours worked 20,000

Production units 10,000

During the month of October, the department undertook’

an order consisting of 50 units. The relevant data for
this order is as followg :

Materia] used

Rs. 24 500
Direct Wages Rs. 20,500
Labor hours workeq 1,550
Machin, hours workeq 975

Prepare 4 Comparatjye Statement of cost of order when
& OVerheadg aI¢ applied on the basis of :
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(1) Direct material cost methoq
(1) Direct labor cost method
(1ii) Prime cost method
(iv) Labor hour rate method

(v) Machine hour rate method

OR

(a) Write short notes on methods of time keep:

workers.
(5)
(b) Compute machine hour rate from the follo

data :
Cost of machine 100
Installation charges s
Estimated scrap value at the end 29
Estimated repairs over the effective

working life of the Machjp 40
Standing charges allocaye 5 the

machine per year 1
power bill per year mh._
Effective working llfe of the o, 60,000 1"

power consumed by the machine ; 20 3
Units per ho .

a cost of Rs.2 per unit. R‘



TR W ¥ @ 50,000 <.
IR EHE 40,000 ®
SR 30,000 %
W aE wW faa 30,000
W He wW e 20,000
ST g 10,000

Wmﬁﬁm%soouﬁaaﬁmaﬁa{ﬁmw
%ﬁml‘ﬁaﬁmémmmmé

A A R 24500 <.
T et 20500 %
TR wm 1550
TR ww fw 975
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Teer et @ fafe m=

weer e e fafe )

(i)

(ii)

(iii) w&r owr fafy

(iv) s wer @ fafw

(v) we wer = fafy
3rerat

(=) %ﬂ%ﬂﬁﬁgﬁw%w@&ﬁ%ﬁm
forfem

(w) Freafafer st ¥ T YO W W

M & AN 10,0005
O @ 50,000
¥ e @ e 1,008
AT & I WET &

KA AT R 6000

ST J U G — - L
ol
T . “r
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a) Distinguish between periodic and perpetual inventor:
system. (5)

(b) A product passes through two brocesses, viz Process |
and Process II.

The normal wastage at process I is 3% and at process
II1s 6%. The wastage of Process I is sold @ 25 paise
per unit and that of Process II is sold @ 50 paise per
unit. 15,000 units of crude material were introduced in

—

Process I @ Re | per unit. The other €Xpenses are :

Process I Process 1II
Marerial consumed Rs. 1,500 Rs. 2,250
Direct labor Rs. 7,500 Rs. 12,000
fsianufacturing expenses Rs. 1,575 Rs. 1,425
Output 14,250 units 13,650 units
Prepare Process accounts, abnormal wastage and
abnorma] affective accounts, (10)
OR

The buses wilj make

3 round trips per day carrying on
an average 80%, passe

nger of their sealing capacity. The

i
P.T.0. |



seating capacity of each bus s 40 52,
buses run on an average 25 days ir , -‘. |
information for the year 2015-16 zre 5.

Cost of each bus

Annual depreciation
Annual insurance
Garage rent

Annual repairs
Salaries of 5 drivers
Wages of 5 conductors

Manager’s salary
Road tax

Office expenses

Cost of diesel per liter

Kilometer run per liter for each busg

You are required to calcy]a¢
m each P

fro assenger pe.

service wants to e€arn prq

(ﬁ)ara&)aﬁsﬂrmwmqﬁmm#

Rs. 650 1

Rs.

5,000 for#”

Rs. 2,000

Rs. 33

Fyy

6 Km

e the bus fare to be
Fts of 331/3% on takl h

q9rs¢ |



T RS 1500 ® 2250 T

T S 7500 = 12000 ©
i 1575 <. 1425 ®
SR 14250 . 13650 %

W,W@ﬁmm%ﬁhtaﬁm|

At

::““ﬁhfaﬁ%‘s 40 Brel Rrex R T W 5 T TR B
T WY R 3 qeEr BRY o=@ @ 3R I @A St awwr @
iﬁmgoo,om%mi\mmﬁaaﬁﬁ@% a0 A
fh‘zi W w A Nwaw 25 R weRt Fowd 2015-16
* Ry g et A B ¥

P.T.O.
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Material sent to site
Direct €Xpenses

Wages

Materials return to store
Materials stolen from site
Insurance claim admitted
Office expenses

Work overheads

Material in hand on 31% December 2016

Cash received being 90% of work certified

Cost of work uncertified

Plant sent ¢ site cost Rs. 6,00,0
of Rs. 1,00,000 and useful life o
still at the site. Prepare contrac
amount of profit to be transfe

Rs.
19,50,000
50,000
3,00,000
50,000
1,00,000
60,000
2,10,000

20% on wages

1,50,000
27,00,000
1,10,000

00 with a scrap value
5 years. The plant is | |
t account showing the [
rred to Profit and Loss

Accoupt. (10)
OR

TT::or?sl 1;):’ ing transactions have been extracted from the
Uman Enterprises

P.T.O

.
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aCtory OVerheaq

Goodwill Written off

Interegt On capitg]

In Costing book

S factor
On wages

, adminjg tratiy Verheaqy are charged 8-

; Ove 1

and selling ang diStl‘ibut,’0n 0: Cads 54 10% of facto
S

Theaqy @ Re | per usi"
Prepare

i A Statement showing the Cog a
accountgs b
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(i) Trading and Profit and Loss Account.
ii

(i) Reconciliation statement. (15)
() PV I TR 7 @S Ime A s i |

(@) PQR FEFT fefies ¥ 50,00,000 & 1 GREr | g
2016ﬁ%%m1mﬁ31ﬁam20163ﬁm§qa§
& P Fiofee Tl St =0 2

R BT v W S s

19,50,000 %.
TE @ 50,000 &
EEEel 3,00,000 %.
W A" 3 WeR ¥ 50,000 .
M e ¥ DY w9 1,00,000 %,
I T WER T T 60,000 %,
AT @ 2,10,000 %
T IJuRepy ARG T 20%
31 TER 2016 = wEEl qr N 1,50,000 %
TN FE R 90% T Fur e T 27,00,000 <.
I W 9 e 1,10,000 %

mﬁﬁﬁwmwﬁﬁaﬁm 6,00,000 T. 3R T
Ta‘i\ml,OO,oooa%lmwﬁsﬂamasﬂawsa&
%'Waﬁﬁmw%mﬁa-a@mwmﬁ

TR W R R w2 R e o a3 3
RS w2

P.T.O.
M
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SRAQT
frfefad e g4 TetEer @ Rt 3 Py
;
¥

fa (20000 ) 2,500
awl 1,00,000
Wﬁ 50,000
WE F IR 45,000
e T TR SuRaa 26,000
fawa 7 fawr SaRem 18,000
FoT wiew 15,000
FW T (1230 gf)
T

b 3,000

e 2,000

Y SR 2,000
?qm W s 20,000
o 2,000
Tmmmi :;WE SR mﬁ;{;
SR ) o " T T 10% sk A

ﬁa&ﬂ%a%mm?')
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() T A B FTAR T R AN B W T qY o |

(ii) U A

ST g N g el et

(a) Differentiate between fixed budget and flexible H
budget. )

(b) A company finds that while it costs Rs. 625 per unit
to manufacture a component, the same is available in
the market at Rs. 575 each, with an assurance of | |

continued supply. The break up of the cost per unit is

as follows :

Rs.
Material 215
Labor 175
Other variable cost 50
Depreciation and other fixed costs 125
Total 625

(i) Should it buy or make the component ? Give

reasons for your answer.

(i) What would be your decision, if the supplier

P.T.O.
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offers the component at Ry 4g,, cagy )
, 9

W 1z
OR } (e
(a) How marginal costing technique diffcrcn,
absorption costing ? \
J
(b) A company annually manufactures and sells 20,0y
of a product, the selling price of which ig Rs. 50;1,,’
profit earned is Rs. 10 per unit. The analysisg sz:
units is :
Rs.
Material cost 3,00,000
Labor cost 1,00,000 )
Overheads 4,00,000

(50% variable)

You are required to Compute :

(i) Break evep sales in units and in Rupees

(ii) Sales to ®arn a profit of Rs. 3,00,000
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@Mﬁmmi%mmm%mw
626% T I B IR W wem amm i _—
amiaﬂtmm%mﬁmmm
ﬁﬁ@ﬁ'ﬁiﬁ?m%m—mmﬁmm%
£

™ WA IR a1 ol 125

—
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N

—

(i) T BT B UCH HY W WY AT T AR ?
I IW B P RO e iR |

(ii) smoemr Pt @ BFm oR TwR Yew F 480/ %
WRE & Bem A I @ wam @ 22

JFar
(m) Mm-ﬁmmmmmm-m
R fer 3
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(@) & YA & I & 20,000 AR 1 ey,

O

Al

|

o ¢ | W [T S 50 ® B gk 10 %
site &ar B | 2o,ooogﬁﬁwﬁsﬁwmm

T
BIEEIC S D 3,00,000
Sl AR 1,00,000
SUReE 4,00,000
(50% uRart)
ST S o @
(i) iﬁaffaﬂ;mﬁm_mﬁﬁ
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ECTION - A

(mcome Tax)
| questions.

¢ al
Att::;’ /

ing statements DY writing TRUR 0

annual value of one self-occupied house o

ue to deduction of muni Clpal,'

[
i

(i) Net
| can be negative d

| paid by owner.

(i) Employer’s contribution to the recognised proy,
fund is exempt to the extent of 9.5% of salary,

(iii) Once a person is resident in previous year, he s‘;)
be deemed to be resident for subsequent previous

also.

(iv) Rural agriculture land situated in India is notac¥
asset.

(.V) An assessee is always a person but a pCI‘SOﬂ mat
be an assessee.

() T (5) e B e

. ma%mw“‘a“ﬁmmﬁamﬁa i’:)
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i s e e ffer A Fraiear @ dives @) g @ 9.59,
u
W@;ﬁﬂ‘cﬁ 'él

Mrs. X (age: 45 years) received the following incomes from
PQR limited during the year ending March 315 2016 :

(1) Salary @ Rs. 30,000 per month

Rs. 3,60,000

() Leave travel concession for proceeding

on leave (actual expenditure on air

fare: Rs. 72,000) Rs. 75,000
(i) Lupcp Allowance @ Rs. 3,000 per

Month (expenditure: Rg. 36,000) Rs. 36,000
(iv) Medica] Allowance (expenditure:

Rs. 20,000)

Rs. 24000
(v)

v .
Umerm allowance for official use
“Ctual expendityre by X: Rs. 4,000) Rs. 18,000

|
/

P.T.O.
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(vi) Mrs. X also enjoyed the following benefits
, perquisites :

(a) Free unfurnished flat in Mumba; for
employer is paying a monthly rent of Rs. 3
i 0

,.f,r.v.—-— > oy T
B e L e s fi‘ﬁ%‘ef-§ o SORAIE,

i (b) Free use of Maruti Car 1200cc with Dr;
ﬁ personal use and official use. Car canp alsqfi |
fil’

used by family members of Mrs. X ";

ver ol

| (c) Free service of personal attendant (salam
:‘ 1

i Rs. 12,000) and Sweeper (salary: Rs. 18,000'?

(d) Free use of employer’s DVD

the employer: Rs. 32,000, year o
04)

player (Cost |
f purchase: 203

OR

(2) From the following informations given below, find

(i) Royalty received by him outside o’
India from Government of India 1




th

i) Rental income of House property
(

situated in USA 20,000 &

(iii) Interest on German Development

bonds (1/4 received in India) 20,000 |
(iv) Dividend from a foreign company {
&
(received outside India) 10,000 ¢

(v) Technical fee from the Government #e
of India received outside India 10,000

Compute taxable income of Mr. X assuming
(i) He is resident and ordinary resident

(i) He is resident but not ordinary resident

|
(i) He is non-resident |

(8)

(b) Explain the tax treatment of Gratuity received at the #
time of retirement. (7)

%X(@ﬁ?ﬂi)aﬁsmﬁzowaﬁm@w%aﬁ
PQRﬁrﬁ%g%ﬁwf%{ﬁa—aaﬁmgi;

() ¥ 30,000 & ¥R TR WD 3,60,000 %

(i) TR I D Ry s am R
(* oot =1 et @ 72000 %) 75000 T

B ity M A o Sl ek
Y Moy Ly R
‘ _ P & A

e

P.T.O. T §
Hl .;‘;c
o
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() Wmsooo‘iﬁﬁ"“’ﬁ"ﬁﬂﬁ

(aa : 36000 ©)
(iv) aferen e (@@ 20,000 ¥.)

(v)aﬁwwﬁrﬁm%%q ‘

(e =@ X B 4000 %)
. ]800&
J (vi) mxﬁﬁwﬂmﬁammww

T

(E) ‘ﬂa%ﬁ Wﬁﬁﬁ e e %Q Ili'aE" 3000
Wm%m%|

(@) 1200cc TR MR FR W s @ A
AT T S S e | o

(M) = R 0 e Jar (e 12000
THE T (I 18000 %)

/

(%) e = DVD @k =1 frgess s (FI°
U 32000 % wWlw < a@kg 2003-04)

%X?ﬁﬁm&w

2
T 2016 - T
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Ramesh provides the following data for th, Sily g
3. (a) rr. sidential house for the assessment year 2015,
1S 1€

House purchased in 1984-85 Rs, 5,50’0'
Sold in November 2016 Rs. 90,0
Construction of the first floor in 1991-92 Rs. 3,00

Construction of the second floor in 2005-06. Rs, 5,00,(';
Purchase another house in September 2016  Rs. 6,00

Deposited in capital gain account scheme "
in January 2017 Rs. 2,00

Compute the amount of taxable capital gf;m'
g\
Mr. Ramesh for the assessment year 2016-17. T

for the financial years are: 1984-85:125; 1991-9%
2005-06: 497 and 2015-16:1081.

. of!
(b) Explain the Income tax Provisions relating to set
carry forward of capital losses.

OR
. e
Write short note oy the following :

(a) Capital asset

(b) Assessee

(
(¢) Deduction u/s 80 GG
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) frer @ e & 2015-16 & fow s smar e
A A & fou fealafea sifews Suer wwa 2 .
FE 1984 -85 W @RI 5,50,000 %.
g 2016 X «= 90,00,000 %,
1991-92 X WEeh ARt w1 Ffor wwan 3,00000%
2005-06 ¥ @A Aforer @ Ffor e 5,00,000 ® :
R 2016 ¥ TET FEHT @A 600,000 &
FEd 2017 ¥ TolE N oRaT Arer
¥ T Y 2,00,000 & |
fe @ w1 PR @ 2016-17 & Rig o A Fem | |
™ o TR e e | R o @ R o _»
WRR B : 1984-85:125; 1991-92:199; 2005-06: 497 3K 2015- B
16:1081. m,
(@) T ol = i w0t ok SR oY 3 e 3@
AR W R R B
(%) e ey '8
(@) g b
") W 8066 @ sada wka @
P.T.O. m
W, .
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s (a) Mr. X has 190 identical houses in Delhj, bots
. a) MlI. ‘ £
are self-occupied. From the particulars gives .
calculate income from house property.

Particulars House | Ho,
(Rs) ¢
Standard Rent under Rent control act 3,30,000 3:
Municipal valuation 3,00,000 37
Fair rent 3,60,000 34
Municipal taxes paid 30,000 U

Insurance premium paid 20000 :
Construction of both the houses was comple®
September, 2012 X had borrowed Rs. 25’00’000 2
P-a. for constructiop of the house II (date of bort®

1.6, ¢
6.2011), Date of repayment of loan 30.6.2015

(b) Define agricultyre income
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(Attempt all questions)
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Differentiate between internal check and internal audit. Can
an auditor rely fully upon the system of internal check

prevailing in the organization ? (10)
OR

(@) “Vouching is the backbone of auditing “Explain this

Statement. (5)

) “Verification is something more than valuation of assets
and liabilities”. Discuss. (5)
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T W ¥ <@ ek Wi T W QR W
T 2 7

P.T.O.



1 4 A

1

02

() walia Qe W wl Na ook U

(‘1 q
o |

((1\ "‘(K‘J“\“v{ “\{(\‘n(‘“ﬂ 3“* q"n‘q‘ r“ ‘1"1”'1!" |

R UL AR CE R E AT

3. (@) Explain in brief qualified gy

I Undqualifj,,
repornt,

() Explain the rights of (‘nmpzmy Auditor 9

OR
Write shoyy note op MY two of the following:

(1) Types of Brrop

(11) Verificat:

N
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G No. of Question Paper 503

Unique Paper Code 227484 G

Name of the Paper . Economic Regulation of Domestic and
Foreign Exchange Markets

name of the Course  :  B.Com. (Prog.)

Semester . \"

Duration : 3 Hours | Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
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Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper. |
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Attempt five questions in all.
All questions carry equal marks.
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Explain the basic functions of the government Why

mw :a
role of the government inevitable in a market economy 9 '
TR & A B T DI TR SHefop,
i wEr W R & STEvEEEl g

Explain the concepts of productive efficiency and allocatiy

efficiency as features of perfectly competitive market. s

-

SARE FIOA Td e HIAd] I STEUR #
T S 9K w6 YHhfa & w9 # favafia s
What are SEZs ? Discuss the role of SEZs in Indi

What incentives have been given to them by the Gowvt. f

Iindia 2 55

memﬂwwﬁﬁmmmNmﬂﬁﬂﬁﬁ%
T o s g e @ e T

T 2

ic}
Critically evaluate the maip features of New _=m:m3m_ pol

’

] _u

of India introduced in 199]

.

19917 # M@ B W sheipe any @ T
ﬁﬁ@ﬂﬂﬂgﬂ?@
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pplain the measures for promotion, development and
.”\' (

ghancement of competitiveness of MSMLs, 15
¢

vSMEs il & wiewed, fawm qon Ifs
& fau 7l # faveom Fwifso
o, Howare the exchange rates determined ? What are the reasons

for fluctuations in the exchange rate ? 78

fafm & w1 *A fruifa fen s ¥ 2 fafe
R JR-TgE & fau s @wwo ¥ 2
1. State the provisions of Foreign Exchange Management Act,

1999 w.rt. :

(@)  Capital account transactions

(b)  Obligation of exporters.
ﬁ@ﬁﬁﬁmw—uwwwsﬁmmﬁ:
(@ T B R

() i & <fae

F ey ¥ omen sfu

P.T.O.

"m_.



Write short notes on any two :

(@)  Duty Exemption Scheme

(b) Balance of Payments and its components

()

Functions of Development Councils.
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¥i
(2) What is a report? Describe in brief various types of |

reports (10)
(b) What is interpersonal communication? Give an example.

) |

|

OR

(a) You have been working as a sales manager with a \‘
company. The company has not been able to boost sales. '\
Write a report to the managing director on the need of |
introducing some incentives to boost the sales. (10) !

(b) What are the qualities of a good report? (5)

) wider @ 27 RARFT wer = A @ §ay ¥ v
ity '

(%) sidafrrs wam @@ 27 Serew ¥
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%) mwm*ﬁ@m$“ﬁm§w
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(@) ¥ W & I T 37

Describe the types of minutes and their contents, Wy,

the difference between minutes and reports? |

OR

(a) Write short notes on the following (Any two):
3 () Agenda

(i) Noticeg

(

(b) Draf 4 g
me . ) 11z
® office superintendent ask"

i
. n 11s £
office Phoneg miizsonal telephone ca
| yees,
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(@) Friea e & fore Ao o wew o Afm ey s
FARA BN FAEE B B A By I @ B e
s W Agan @ & e fRew 2

~ Write a letter of complaint to the General Manager of the

>
s
A3

Department of Telecommunications for not rectifying the

defect in your company’s telephone instrument in spite of|
several reminders. (15)

OR

{

You have been working as a marketing manager with a|

company for last two years. You have also worked on the ‘

same position with another company for three years. You!

have read an advertisement for the same position in a

Multinational company. Apply for the job highlighting your
cligibility and work experience. (15)
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5. (a) Below is the list of pairs of commonly confuseq worg

Write their meanings and make sentences.
(1) later/latter
(i) excepted/accepted
| (i) affect/effect
] (iv) principal/principle ‘

(V) quiet/quite e

| j
(b) Write a note op video conferencing. |

OR

| Jog!
| Discuss the role ang advantages of techn? (:
business communicatiop_ ‘

/
(&) et e mw%waﬁ@aﬁ?' l
(i) later/latter

(i) excepted/accepted

(i) affect/effect
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(iv) principal/principle
(v) quiet/quite
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\

. (a) Write a Short Note on

“Issue of Dep r
€n
Collateral Security”. treg

agg
(b) X Ltd. decided to redeem all their |

on 31% March, 2016 on which date

i
Preference Share, |

their positjon ..
under : ostionw,

Equity anq Liabilities

8% 2
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)72
Additional Information:

(i) Capital Redemption Reserve is the result of

redemption made five years ago.

(i) The preference shares are to be redeemed at a
premium of 5%.

(iii) To enable redemption, the Directors, decided to |

issue sufficient number of equity shares at par.‘
Pass journal entries. (10)

OR

(a) Write a note on “Utilization of Securities Prcmiumi

Account”. (5)

(b) X Ltd. issued 2,000, 12% Debentures of Rs. 100 each
at par on April 1, 2013, These debentures are
redeemable at the end of the fifth year at 10% premium. | _
It was resolved that Sinking Fund should be formed and "
invested in 10% Development Bonds of Rs. 100 each. gt,
[nterest on Bonds is payable on 31 March every year. ‘
Reference to sinking Fund Tables shows that Rs. 0.1638 ;.’ i
invested at the end of year at 10% compound interest %

Will produce Rs. | at the end of the fifth year. 10%
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Development Bonds of the required amoyn:

purchased on different dates at the follow

lﬂg ?' W3
T ——
On March 31, 2014 |  Rs %0 |
|
On March 31, 2018 f Rs. 90 ]
I .
L()n March 31, 2016 ‘ Rs 100

Yo -
4 are required to show Debenture Redemption o

Account rde
and Redemption Fund Investment Accoun

the fj
first three year 1n the books of X 1Lid

Account;
in - ;
€ Year of thg Company ends on 31" M

| (Eﬁ)m—ﬁlﬁ‘qﬁ : (
\ .W’{M".W\ n __a A
| . LG X

(@) X |
)\ﬁﬁ@g% R | L
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of Rs. 10 each of which 40,000 shares had been issueq and

fully paid. The following is the Trial Balance extracteg on
31 March 2016 :

};rﬁculars Debit Rs. | Credit Rs.
Stock (April 1,2015) 1,86,420 |
Purchase and Sales 7,18,210 11,69,900
Returns 12,680 9850
Manufacturing Wages 1,09,740 --
Sundry Manufacturing Expenses 19,240 -
Carriage Inward 4910 --
18% Bank Loan (Secured) 50,000
Interest on Bank Ioan 4,500 --
 Office Salaries 17,870 --
Auditors’ Fees 8,600 --
 Director’s Fees 26,250 --
 Preliminary Expenses 6,000 -
Freehold Premises 1,64,210 -
 Plant and Machinery 1,28,400 -
 Cumiture 5,000 -
%ﬁﬂools 12,500 -
ebtor i 62,220
m%:dCredltors 1,(1);,‘51(3)2 =
e —— 1 )
| Cash at Ban 96,360 -
Wa;talApnl, 2015 - 4,00:0005
Q 17,30,610 | 17,30,610
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You are required to prepare Profit and Loss Statemep, fo
the year ended 31 March, 2016 and a Balance Sheg a5 4

that

adjustments :

(1)

(11)

(111)

(1v)
(V)

(vi)

date after taking into consideration the fOHOWing

On 31 March 2016 outstanding Manufacturing Wage
and outstanding Office Salaries stood at Rs. 1,89
and Rs. 1,200 respectively. On the same date, stoii
was valued at Rs. 1,24,840 and Loose Tools «
Rs. 10,000.

Provide for interest on Bank Loan for 6 months.

. . . . s
Depreciation on Plant and Machinery is to be provic

@ 15% while op Office Furniture it is to be:
10%.

Write off Preliminary Expenses. |
Make 3 Provision for Income Tax @ 30%.

The directors recommended a maiden (first) di\". r |
~ /oL g
@ 15% for the year ending 31 March 2016 g
transfer Rs. 6,000 to General Reserve.

(vi) Corporate Dividend Tax 209,

OR
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( . .
support the description by an example.

| Explain the Super Profit method of valuation of goodwill.
3) B

()

() From the following information relating to a company,

calculate the value of its equity shares as per intrinsic

value method : (10)

Issued Equity Share Capital 10,000 shares of Rs. 10

each, Rs. 8 paid up.

8% Preference Share Capital 10,000 shares of Rs. 10

each, fully paid up.

Annual transfer to General Reserve 20%

Rate of Tax 50%
Expected Profit (Before Tax) Rs. 2,00,000
Normal Rate of Dividend 20%

Reserve angd Surplus Rs. 2,50,000
External Liabilities Rs. 75,000
Fictitioyg Assets Rs. 20,000

¥ My

™
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E— W (7) | 3
(1 77 2015 %) 186,420 | N
718210 | o
e 0 1520 | Tm
anffert 1268 | oo
. 3
W”l ﬂ’{f’ﬂ* 1,@,740 \1
27 g 4910
]8"!,*37 N (W)
hadoadhiiiy 4500 |
skl 17870 |
':”Wlm: il %600 y
A%, o : 4
ey :{}m 26,250 4
i 6000 |
W1 164210 |
m L W 3
T ——— | 28 400
g gy 5,000
e g — 12,500 ,
m ],05’4“{4/
5 iy | 19530 S
R 96,860 _ e
——
e “”" _ 17"
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of QA Ltd, as on that date was as follows :




O

4

/

-,
N
»

41
"

SRR

S

‘w9

w’l;t"'and Liabilities Amount
/“""T— ‘
ml Capital -
Mity Shares of Rs. 10 each fully paid up 3,00.000
"
General Reserve 40,000
—
profit and Loss account 1,00,000
| WDebentures 50,000
| Trade Payable 20,000
Total 5,10,000
Assets Amount
Goodwill 50,000
Land and Building 2,20,000
Plant and Machinery 1,00,000
Stock 80,000
&
Trade Receivables 30,000
\
Cesh at Bank 30,000
Total 5,10,000
— ,10,

: S, agreed to pay the following consideration :

(i)

o

For each equity share in QA Ltd. Rs. 5 in cash.
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(i) Issue of 60,000 equity shares of Rs. 10 each
Ltd. at the market value of Rs. 15 per share,

(i) Issue such an amount of 10% debentures of
Ltd. at 4% discount as is sufficient to disct
the 8% debentures of QA Ltd. at a premiur

20%. The face value of debentures of WS Lt
Rs. 100.

The management of WS Ltd. valued land and bul
at Rs. 3,50,000, plant and machinery at RS: 3,00
stock at Rs. 70,000 and Trade receivables t

face value subject to an allowance °f

cover doubtful receivables. Liquidatio? est”

amounted to Rs. 30 ,000 but were not agreedt
reimbursed.

Prepare Realisati ehcl;
alisation A ity sb

1t d

ccount and Equity o

A
ccount in the bookg of QA Ltd. and pass g
journal entrieg in the books of WS Ltd.

OR

o :
| The following is the balance sheet of KK ptd: ?
March 2016.

-
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I
/ity:':‘l Liabilities Amount |

mtal
/’ojqfulty Shares of Rs. 10 each fully paid up | 2,00,000

20 000 E
10% —— preference Shares of Rs. 100 each fully paid 50,000
"% Debentures 1,00,000 |
’T;d—;Creditors 3,30,000 |
“Creditors for expenses 20,000 |
Total 7,00,000
Assets Amount |
Land and Building 2,00,000 ‘ |
Plant and Machinery 1,30,000 | |
Patents - 40000
Stock 30,000 g
Debtors 55,000 ©
Preliminary Expenses 10,000
Profit and loss Account 1,85,000 |
Total 7,00,000

The following scheme of reconstruction was proposed :

EE
i!;
S
g
4‘
f
. ):
(1) To reduce equity shares by Rs. 9 each and preference; i

shares by Rs. 40 each.

() Reduce machinery to Rs. 80,000 and stock by ;""'

Rs. 10,000.
(iil) Provide Rs. 15,000 for bad debts.
(iv) Write off all intangible assets:
P.T.0.
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|

(v) Raise preference dividend to 12% anq debep,
. 1 u
interest to 10%. Assuming the above Proposals r

. er
duly approved and sanctioned, prepare Teconstrycy, ‘
0

account and pass necessary journal entries tq g
Ve

effect to these proposals. (15)

WS fifiee 313.2016 & QA fafids & =@ R, A%z oy
aﬁamﬁ%mmﬁéwuwﬁ#wwoAﬁﬁém
e JAT 39 WER v
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The following are the balance sheet of H Ltd. and S Ltc

as on 31% March 2016

Equity and Liabilities

R ——
i by - 18
*ra, e

ot T P

H Ltd. | S Ltd.
Share Capital :

Equity Shares of Rs. 10 each &
| fully paid up 6,00,000 | 2,00,000 " |
General Reserve 3,40,000 80,000

| Profit and Loss Account 1,00,000 60,00C
Creditors 70,000 35,00C

| Total 11,10,000 | 3,75,000
| Assets H Ltd. S Ltd.

| Plant and Machinery 3,90,000 | 1,35,000
 Fumiture 80,000 | 40,000

| [nvestment (80% Shares of S Ltd) 3,40,000 =y
 Stock 1,80,000 | 1,20,000
%M 50,000 | 30,00C
~25h at bank 70,000 | 50,00C
T‘"al\ 11,10,000 | 3,75,000

-
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Additional Information :

(i) P & L Account of S Ltd. stood at Rs. 30

000 op s
April 2015 whereas

Genera] reserve hag I€maineg

unchanged since that date.

hares ip S Ltd. on 1 October

e . HtLe debtorg of S Ltq. is a sum of Rs. 10,00

Il 310y, - for googs Sold at a profit of Rs, 2000
arch o

Vere 14 and e (_)16 Only half of these good

Ltq M

“ning apq Still in the godown of

C0n .
016, lidagg

.,h
lance Sheet as at 31 M
4

(I

(a) The eXtp OR
act
"Ubsidiay S N "l ¢ sh and 'I
fO”OWS td') aS " eet Of H. Ltd-s Ih

S re
' March 2016, W°




W7

21

“Fauity and_ Linbilities H. Ltd. | 8. L,

(Rs.) (Rs.)
;l;;;-::‘;‘\pilul (Shares of Rs. | cach) 10,000 6,000)
B R
General Reserve 4,000
Suplus 4000 | 1,800
Creditors 2,000 2,200
Total 20,000 | 10,000
Assets H. Ltd. | S. Ltd.

(Rs.) (Rs.)
Sundry Assets 16,000 10,000
Investment: 4000 shares in S. Ltd. 4,000
Total 20,000 | 10,000

The shares were purchased by H. Ltd. in S. Ltd. o
30™ September 2015, On 1% April 2015 the profit an
loss statement of S, Ltd. showed a loss of Rs. 3,00

Which was written off from out of the profits earne

during the year. Profits are earned uniformly over th

Year 2015-2016. You are required to calculate Cost ¢

Control ang Minority Interest for the purpose ¢

Consolidated balance sheet.

(10
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(b) The following inform

Ltd. regarding th

nature of assets .

ation 18 provided by Khadija Bay;

e interest on advances along with 4,

(5

Performing Assets Interest Interes
Earned Recelve;

Rs. Rs

(in Lakhs) (in Lakhs)

Term Loans 320 180
Cash Credits and Overdrafts 1,050 64)
Bills purchased and discounted 550 318
I

Non-performing Assets |
__/

T L 3
erm Loans 180 L
Cash Credits and Overdrafts 715 ‘/4
Bills purchased and discounted 235 1'

Calculate the income to be recognised
ending 31% March 2016.

Hﬁlﬁ?gsﬁism%alﬂﬁzmbaa;%aﬂ‘m
.

for the f
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o




(i) S fifds @1 1 3kt 2015 @ W SR B F@T 30,000 T
W o ks wwea Red 94 T @ sRafda o W@ ®

(ii) Hﬁlﬁ%‘s‘%]&azgtzmsaﬁsf?«rﬁ?%%ao%?w

3,40,000% ¥ Iufiyg =t o0 1

T e

o 23
st T AT H fafads | s fafee
(%) (=)
=
0% T Tled feEd I 6,00,000 | 2,00,000
g Red 340000 | 80,000
AV 3R T 1,00,000 60,000
SeRat 70,000 35,000 -
e 11,10,000 | 3,75,000
ftgaf H fafiee | S fafes
(%) (=)
T T A 3,90,000 | 135000
FHIRR 80,000 40,000
i (s RifdT @ 80% W) 3,40,000 .
wtE 180000 | 120000 |
e 50,000 | 30,000 ©
% ¥ A 70000 | 50000 |
i 11,10,000 | 3,75,000 |
e e

!
4
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fine cash flow from [nvesting Activities. For ¢y,
efine |

(a)Dh following transactions, calculate the resultp,
the

flow and state the nature of cash flow viz., opery,.
o

investing, financing of non-cash transaction.

(i) Dividends paid during the year g,
Rs.2,00,000 as final equity dividend
Rs. 1,00,000 Preference dividend.

(ii) Non-current investments costing Rs. 10,000«
at a profit of 40%.

) (iti) Salaries of Rs. 4,00,000 paid to employess
(iv) Buyback of 5,000 equity shares at Rs. 504

(V) A building was let out for commercial usef
tarned a rent of Ry 12,00,000 during the

(b) From the following information given by PQR Ltdljlv
are required tq asc

f
e €rtain Cash flow from Op*
Activities -
Parﬁculars o — -
T 201415 Rs) | 20
rade Creditors - /
Outstanding EXperE e *
I S 8,0«) l’,‘f'

Trade Debtors

1,20,000 i
4,000 f

Outstanding Income 10,000 /
- i T

Prepaid Expenges |

]

{17 T 7 7 7 7 7
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Additional Information:

The company earned a profit of Rs. 4,00,000 after

charging the following in Profit and Loss Account during
the year 2015-16:

(i) Provision for Tax Rs. 1,00,000 while income tax
paid was Rs. 90,000.

(ii) Interest Received from Investments Rs. 8,000
(1) Loss on Sale of Building Rs. 22,000

(iv) Depreciation on Machine Rs. 14,000
OR

The Balance Sheets of Sunshine Ltd. as on 31-03-2015 and
31-03-16 were as under

Equity and Liabilities 31-03-2015 | 31-03-2016| =
Share Capita = e
R 1500000 | 1950000 |
| ecurifies Premium 1,50,000 -1 B8
2urplus Account _ 75000 &
%@entures 600000 | 330000
— Payable 2,40,000 300000
\dryc‘i”"rs 240000 | 225000] |
%Mdend 30,000 5000
o Tax 60,000 75000| &
28,20,000 | 30,00,000| |
3
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——
Assets
Goodwill 300000 | 95
Land 4,50,000 m
Plant and Machinery 16,50,000 16 ﬂ
Trade Receivables 1,80,000 2,‘?,,
Inventories 1,80,000 2?
Cash and Bank Balance 36,000 .
Prepaid Expenses 24,000 .
Total

Additional Information :

i
’ nd dl\.v-’
(1) Net profit for the year 2015-16 before tax @

(11)

(111)

(1v)

Deanary 1 , e vl
Prepare Cash Flow Statement as |

Show

; your workings clearly.
e B Wieeme . R A

was Rs. 1,89.000.

7
o . ar
Provision for Tax made during the Y€
Rs. 69 .000. |
e
and Mac
Depreciation charged on Plant and
Rs.2.40,000,

n
'sﬁuw

b
el
Bonus Shares of Ry 1,50,000 W

Securityes Premium @

vert
0()() \ e
Debentureg amounting to Rs. 2,70, h

on |* April 2015, Interest on de
paid

Tl
pentt"”

28,20,000 | 30017

015"

)




29

B
»

ﬂﬁmnﬁﬁﬁﬁﬁﬁmmzﬁvﬁwéﬁmﬁnﬁm
3 RS AR & o wRomraen dw wam w5 ofigas

mwmm%mwmmﬁm,
fRwe, Rdiga svar Qs =

() ©@ =8 Ry 7w o ¥ 200,000 & sifaw Sfras

W & FT N IR 1,00,000 T AT IR B FnwE
A e 2

(i) 10000 % @R & st FRM Y 40% N W AT
o

i) 4,00,000 & & INF FHARA H Ry 7O |

(iv) 5000 Sl AW B 50 T AT & RRaw ¥ 99
|l @ )

(v) U wEE w Al yam @ fag feog w 2 R

T AR T W oad 12,00,000 % R I
o

®) p :
’P‘)R%ﬁhmaw{ﬁmfﬁﬁ‘amﬁémw |
T afafafiay 3 AHT yare w0 Gl SEY |



3072 30
faraor 2014-15 g)\m
R & A=F2rar NW’\R
AR & et ,30000\“\]\6;
T 10000 ‘Tm

(ii)
(iii)

e ¥ 800 T WS WS

WoT = o 22000 & = =fr &S |

A/f
T Rifie @
N F 3132005 R 3132016 F AT ™



31
31-03-2015 | 31-03-2016
(T) (®)
15,00,000 19,50,000
1,50,000 -
- 75,000
6,00,000 3,30,000
2,40,000 3,00,000
2,40,000 2,25,000
AT 30,000 45,000
S 7 R e 60,000 75,000
i 1 28,20,000 | 30,00,000
3,00,000 2,25,000
4,50,000 6,00,000
16,50,000 16,50,000
1,80,000 2,70,000
1,80,000 2,40,000
36,000 15,000
24,000 =
28,20,000 | 30,00,000

D T N
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(i) = gFm & &t 9 2015-16 & Riy fiygm
T 3k 5
1,89,000 & o |

(i) 79 2015-16 % A o B g 69000 = T
T |

(i)

T T T R 2,40 000 AT I |

(iv) 150,000 & & Hrg TR, Wy R ¥ 3w

(V) 270,000 % 471 2 Ry T 2015 A AT
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1. (a) What do you understand by the termy ‘InVeStmem,
: What are the features of an ideal inVeStmem deCisio :
n
t]
(b) Differentiate between ‘Offer for sale’ and Initig PUbli
c
Offer/Follow Public Offer.

0
OR

(2) Briefly describe various sources of finan

What precautions should an investor
such information ?

i (b) Define market intermediaries.

market intermediarieg Operating i

cial informajg,
take while using

t)
Discuss the various

n the Primary Market
(0
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SENT e

(a) Define Stock Exchange. Stock exchange plays a

indispensable role in the Indian Economy. Comment.
(8

(b) Describe the procedure of placing an order an
execution of transaction. (7

TR RS e
o ST R

OR

(a) Write a note on :

(1) Support and Resistance level.

(i) Moving Average Analysis. (4+4

(%) Calculate the EPS and PE RATIO

Sales Revenue Rs. 40,00,000

Net Profit after taxes Rs. 8,00,000

Equity share capital divided into shares Rs. 20,00,000
Of Rs. 10 cach

Curren market price Rs .30

p.T.(§
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@) ¥NT W MW W IR bl oy Wl

U
W |
Jrar
F) Rt R .
’ U) T 3R vy wx
(1) e M Rrvdwor
(|) Epsﬁpgqum AR
R T 40,0000
L T ,00,000"
0T T Iy vy SRR §R 20,0000
AR vy 30
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e return (%) on securities X and Y under different !
The |

ions are given below

gituat

@tfions of Probability Possible
The market of return Returns
BULL 3 18 30
NORMAL 4 15 12
BEAR. 3 12 18

Find the risk and return associated with both the securities.

Which security should an investor choose and why ?
(15)
() W SR g T A 2 7 T IR T R
T N T T{T SR |

®) % wa g w R R
AAT

E?X@?Ywm(%)ﬁﬁm:ﬁmwﬁﬁm

P.T.O
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(a) What is a mutual fund ? Discuss the factors affes

the choice of a mutual fund.

(b) A mutual fund accumulated Rs. 1500000 by ¥
100000 units in the beginning of a financial yc@i
invested Rs. 1400000 in the corporate securities ™
present price and the price at which mutual fund in\'i’
is given along with the return generated t0 the 7

fund from these S€Curities

Investment Value at the Value at .
beginning the end /00‘
- ] 7 5 / /u
Equity 3,00,000 6,00000 |
Debent e %
ebenture 6,00,000 5,50,000
IV, ’ ;.—J

@
& M RAAAA Y




| fund incurred an expense of Rs. 50000 during
a

e e Find the NAV of the mutual fund at the end
the year: = -
of the year. )
OR
currency derivatives market ? Explain, (15)

What 18

T FwEn @ fadeer #fif

(@) & FYI "3 X el af & 3mw A 100000 g = R B
#® 1500000 % TEGW fRw @Y weR b ¥
1400000 % e e Rt s v 3k 3w Fom =
for e W w=gew we ¥ flwm B, ok W & ==
mﬁﬁ%%mmﬁmmwﬁagmﬁ
fea w1 < 2

IR ¥ ey T X oy T

GCH
ﬁ 5,00,000 6,00,000 75000
| B | 600,000

5,50,000 72000

iﬁs‘ﬁ%%waﬁ%a\msopooaaﬁmlaﬁ&
""”"EWWETNAVHHW‘

I e
‘memm%?mml

P.T.O
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5. (a) How are ‘Call Options different from Put o !
Explain with the help of an example, Ptic

(b) Differentiate between :
(i) Load and No Load Funds.

(i) Open Ended Schemes and Closed g
schemes.

OR

W%
hat do you mean by analysing a company ? Wha

the ' '
key financial factorg considered in analysis
company ?

(=) mhﬁm'mm‘gz-ﬁm'%ﬁasﬁ%?ﬁ
T e |
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(a) “Modern marketing is customer driven
1. (a

. COmm
e .
the statement D

ringing out the difference bety,
6

marketing and selling. 1]

(b) What is meant by Marketing Mix ? Explaip itJ
|

)

!
J
|

importance for customers and organisations.
OR

(a) Explain the evolution of marketing over the years,

Ul
(b) Define marketing environment. Discuss how some recen

changes in Indian political-legal environment had a

impact on marketing decisions of a firm ? (3)‘

(%)

TS R, e g w21 W@ W

“waﬁﬁvsﬁ?ﬁmmﬁmﬁ'mw
i |

(@) Rrom fs 3 S—

TN ¥ 7 ey ok w0
ELED

Wmaﬁmwl i

SRC)

(%)

ﬁt«%ﬁtﬁffﬁqmw%ﬁa;maﬁwaﬁm' }
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@

(a) Briefly explain the steps involved in consumer buying

decision process. (7)

(b) What is market segmentation ? Explain the bases for

segmenting market for the following products :
(i) Wrist watches
(i) Car
(iii) Mobile phone (8) |

OR |

a . . 0 .
(2) What g product positioning ? Identify the basis of

POsitioning for the following products : (7)

@) Patanjali Toothpaste

‘e é
i
() Syska LED (low energy-consumption) Lights

(iii) Himalaya Face Wash

PTO !
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(b) Differentiate between :

(i) Push and Pull Strategies

(ii) Advertising and sales Promotion

mﬁmaﬂm-ﬁﬁam%mmﬁ%h
T |

(=)

TR G @ e 8 ! e e & s
aﬁ@@@ﬁﬁ%%maﬁwaﬂml

(@)

(i) == =

(i) &R

(i) HETEe BT
Jreran

() e e B 2 7 e s 3 R
F IR AN T R

(i) TR THR
(i) R LED (% woff w@ud) o1%¢




a) Describe different channels of distribution for industrial

products with suitable examples. (7)

b) “Packaging acts as a silent salesman”. Comment while

explaining the advantages of packaging. (8)
OR

@) What is branding'? What are the different branding

decisions taken by a firm ? (7)

b) Explain the concept of Product Life Cycle (PLC).
Explain the strategies that a marketer can adopt to

lengthen the period of maturity stage. (8)

(W)Wﬁ?mﬁ%ﬁ?ﬁ%ﬁwmﬁ@fmm
m%?»a‘ﬁ?ﬁﬁﬂ?l

U o NI G U
M sk AR B T @ s AR

P.T.O.
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4. (a) What do you mean by promotion mix ? Explain brieﬂd
’ various components of promotion mix. (0

(b) Distinguish between Skimming and Penetration pricizt
Which pricing policy has been adopted for the productg
: . : 1
like Apple iPhones and Samsung mobiles ? L

OR

113 1 ' ar\
(a) Retalhng scenario in India is undergoing a re""luuon 1
change”, Elaborate, - (‘

o
§

- . é

. is1
(b) Explain the factors that affect a firm’s pricing dec?

(%)
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a) W ® B Pufor Bl | e w9 aw wwrE ®
W HIR |

Write notes on any two of the following : (7.5,7.5)
1) Traditional Marketing and Direct Marketing

W) Cost based pricing versus value based pricing

%) Marketing logistics

(iv -S—
) Communication Process

%*f%ﬁwﬁa’rwﬁwﬁnﬁm:
i

P.T.O.
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Duration : 3 Hours Maximum Marks :

(Write your Roll No. on the top immediately on receipt of this question paper

l. Define Business, its characteristics and its scope.

FEE H g e se fadoaed sk 8
F FUH  HifST

Or

(3rgam)

3 . o , L
Discuss Economic Planning in India. To what extent econom' |

Planning in India has achieved its objects. 10

WA § e smiem @t fad=mn #ifew) W

% ST Y et o Wyw B W
L

[

o

¥
8

&
{

P.T«
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b

B - e *:':’r:t?;:":‘: V
;wé
«( 2 )
P
Define urbanization. Discuss its impact on €CONOm;
grQ\,\th

and on business.

13

~

VAT F R T A& i sy,
W I JWE FI faa=T =wifew

Or

(3rgram)

Write the different laws enacted in India to protect the
consumers. Explain what rights are available to consumers under

the Consumer Protection Act. 1986. with examples. 13

SYHERNST H e ® feau wwa § sifufrafaa e
FIL B AT ST e sfafrr 1986 & S
SRS B - sifumn sgeer wA M E
ST T =WRAT Hifg |

: . e o , : ent
Explain the concepts of deficit financing in India. Also comm

15
on the benefits and exits of deficit financing.

mﬁmﬁ?ﬁmaﬁwaﬁmml
|
mﬁﬁm%wﬁmﬁmmﬁmﬁw

ok

1



(3 ) 507
Or
(3197a)

lain the measures to protect and improve environment under
EXpY

te Environmental Protection Act, 1986. 15
e W0 AfufEm 1986 ® A wEERT &)
T M FEAH ® I R emew st

{  Discuss the Foreign Trade Policy in India since Indepen-

dence.

15

O A TR R B Ry s A w e
Fifam |

Or

(3tera)

What are the important components of Natural

Envir P -
ONment ? Discuss the Impact of Natural environment on
business.

15

T o T weh wR-R ¥
; TEE o qWE |
. Write l
Short notes onp any (wo T
(i) N |
(xiobalization in India

P.T.O.



(ii)  Federal System of the Government of India
(iif)  Culture and Business

(iv) The prospectus.

Fafeferd d @ fe=l & W Afem fo
fafee - |

() 9Ra H e

i) WRA TR # weE wgoned

iy TEPME q =EE™

(v) SreEeE  (faerfore) |
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1. (a) What are the qualities required for 4 g,

CCessH
Resource manager ? Uy,

(b) What is empowerment ? Explain the need apg ;
IMpoy.
of empowerment. Port,

IS
{

OR

(c) State and illustrate policies in various Human Reso
Ure

areas of an industrial organisation. N
(d) Write an explanatory note on Voluntary Retirener
Scheme (VRS), ()

(*)mmwm%ﬁvmmsw
TARY |

(@) HAFARTT T BN B 7 ereritencor @ swavgadr @
N =W AR |

Haar

(1) AT T R Rty wr e @4 F I
R LEC D B TR SN S

(7) W= Aafgs dem (VRS)WWMWI

Y
pz

c"l

9 (a) Explain the concept of Human resource plaso
. e 2

and give an overview of process of Humal R ¢
planning.

.




|

3
line the steps involved in the selection procedure.’
Qutll .
b Explain briefly. (7)
OR

: : : .
(¢) Discuss the various types of interviews used in selection
C

of employees. _ (8) |

(d) Differentiate between Job description and Job
specification. (7) E

(F) T WEE AT A G W AR Y IR A
WU SIS W Wi A RETee e iR |

(H)Wm%éﬁ&av@fﬂmﬁﬁf@é@qﬁwﬂm
FRTT |

AT

"R R @ e @ R R e i
TRE F v A e w2 |

) S e St B ¥ s e

(a i
) Why is training an int
e

i egral part of Human Resource
Partment 9 gy

trajn: Plain in brief the steps in designing a
"Ng programme. 8)

b) g
Xplain :
Basket ¢ © merits and limitations of Case study and in
ainj ‘
Ing methods of executive development

(7)
P.T.O.
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OR

What is executive development ? Why is jt Neee
3-‘;;1;3‘/

(c)

’/
i

(d) Write short notes on :

(i) Training process outsourcing

(i) Essential features of a good Training Progr.

"

(%) w0 Fww 2 T i A dares Ry @ e ane
® 7 wiE i A Rome w ¥ e wal A
ﬁ‘aﬂ'{aﬂ&ﬂﬁ{Q|




ﬂs

5

e difference between Performance appraisal
9 What are the benefits of

(8)

{q) “‘hat 18 th

and job evaluation

performance appraisal 7
b) pxplain the concept of employee Transfer. Identify the |

reasons for transfer. (7)

OR

(c) Discuss the benefits of Promotion. Should it be based

on seniority or merit as a basis of promotion ? (8)

d) Write an explanatory note on Employee counseling

,_ | (7)

& S
)ﬁ%waﬂrmmﬁwmé?ﬁwm

T & o = R 7 | .
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5. (a) What is employee welfare. Explain the Varioy
e

welfare practices in India ? ol

(a',j
(b) Define different types of Fringe benefits Providy, (
i

Indian organisations.

OR

(a) What are the causes of grievances in an indusy
. I
establishment ? Suggest measures to reduced empl

grievances. ge

)

(b) Fxplain any five provisions regarding Health of works
in Factories. | ()

(%) w0 e 7 B 7 e ¥ e A W
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I. Explain critically the classical theory of Inter

Trade.

W@uw%w@ﬁﬁaﬁaaﬁm%

natio]

)

What are offer curves ? Explain the determinatiop of tra

with the help of offer curves.

(VS
S
(7]
(@]
=
w
w
5
a
s
@)
>
=
a
o
H
<
(@)
o r)
b o
=
o
a
=]
=
oo
-
[—
@]
=3
Qo
[
o
=t
o
Q.
(¢]
—3
o
=,

4. Show With the he]

S
. p Of the art‘ ‘g : : ram tht
Price, Productjop, Partial equilibrium diag

» CO . fﬁ
tariff nsumptlon and revenue effects 0




)9

Discuss the concept of Factor-Price Equalization and income

distribution.
- TR IR @ e & dFea & e
e |

what are Non-Tariff barriers ? Discuss the various types

of non-tariff barriers.

IRE FIUF T A T 7 IRCRE Iy i R e 6
frdamn AR

Discuss the functioning of the World Trade Organization.

Justify the membership of it for India.

fave =mR qrew & = T S fREE AR ) wwa @ R
HE W H SR qdEy |

Write short notes on (any two):
(i) Agreement on Agriculture
(i) Export Subsidy

-
") Trade Related Intellectual Property Rights (TRIPS)

P.T.O.

- PRt o W

ﬂ,m- : gl
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(i) e gemar

(ii) =R ¥ wafw Wew @i sfEr (TRIPS)
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(;1

e role of personal observation and rege,
ref J
l
!

1. Discuss th

business idea generation.

i

mﬂmﬁﬁﬂhﬁwﬁwm&maﬁ?maﬁmwwf

T |

‘,

cess involved in sensing and identiﬁcan‘o‘#
ith example.

7. What are the pro
portunity 9 Discuss W1

<N

. of business 0P

CCRIRE] Fa & A S Sk g ¥ A AR Wi
Frerecor e T | |
the entrepreneurial opportunities available in IndiJ

Explain
post WTO regime.

Wmﬁm?mﬁsmmﬁaﬂﬁﬁ“

ﬁmrqﬂ
T | ,
ncw

ntees the Success of 2

Fea51b111ty Analysis guara
menf

venture’. Do you agree with the above state

4
)
:

» Discts®
portunlt}' Dis¢

,‘fm

(a) “BPO as an entrepreneurial op

5



P

3

griefly discuss the sources of Creativity.

B g @ AR W WRA X =EaE wfea afR e

=z |
ino)g'ﬁaW’cﬁﬁQl
E;W%ﬁﬁmmwm!

-gmall business is recognize as the seedbed of

Estrepreneurship”, clarify the statement.

Fat
P

aﬂm-ﬁmﬁm%maﬁ%ﬁhmmm%\”ﬂ

u= F] TWEEF SAC |

‘'2) Discuss the factors responsible for growth of Business

Process Outsourcing (BPO) industry in India.

) Explain the advantages enjoyed by a franchisor and

advantages enjoyed by a franchisee.

(=7 Y
%) W7 ¥z wiEa qR-Aew (BPO) AW @t dgfe & o
T wwE w fAde ke

o
T A A e B

P.T.C

P —
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8. Discuss the role of Prototype Development and T,

Marketing before the launch of a new car i

i
market. ‘

TR A T W F GO N A 0§ s Rew o b
ﬁmﬁ%ﬁmwﬁ%ﬂqaﬂml
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(b) Measures to improve productivity.

ﬁ@muﬁm%qﬁamwa}mué‘rmmwﬁwm
2§ T B B TEER AT IeaeA RSt & gaf @ "5
M | T @ :

= | el fore:
(%) d97 & famaE &1 wEw

(@) SeEEa ¥ GUR TR @ ITE

(OS]

Is it now possible to reverse back to traditional office syste:
in order to improve better social interactive outcome that
not visible in the technology based modern office? Discus

OR

Devise a basic training programme to make your offi
staff more computers friendly.

%‘WWWMWQW%WWWW
W AR A Ao w o w3 S W sneia sk
e ¥ 8 gReirr @ 27 @t W

At




4. (a) Journalise the following: !

(i) X introduced Capital of Rs. 2,90,000 to the Busine‘.i
’f

(ii) Goods is worth Rs. 80,000 was purchased fy,

Ram & Sons

(iii) Salary of Rs. 50,000 paid to the employees

(iv) Loan taken from Punjab National .Bank of ks

5,00,000.

(v) Rent of Rs. 18,000 outstanding to Raman singh.

(b) Describe various sources of Long term finance. |
q

‘,
(c) Funds’ as per fund flow and ‘Cash’ as pef cash I
"

statement are not the same thing. |

OR

nd”
(a) Why do we Prepare Trading A/c? Show a Memor -

”IJrading Alc.
Je5

sal®”
O% 0110,000' 3

Rs. s salﬁﬁv
Jows:

(b) If a seller sell his goods at a profit of 2
find out the gross profit when the COGS 1$

Information on expenses are given as fol




‘ 5

rance paid Rs. 7,000, Rent of Factory
nsu

ived 6,700. Find out net profit.

allt L
o ), Commission recel
10U

\

us . . . ' . iOS .

. ,‘,Mm with examples.

pApH
1) X T EMR ¥ R 2,90,000 TR IR
2 TS T W R 80,000 AH W ARG @A T 2
| TR ® R 50,000 F AT T Rear

REREEIEHECE C . 5,00,000 & For fray ey,
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erinl role in a small businegs is g
The manage
. 'The

he large business. Discygg this Sty
16
than |

".’

OR

‘ ' '.‘ ) ;i .
s how entrepr urial a t 18 ¢ ns dCTCdM
Discuss how C‘P Cfllc a ")Ics Oto o
[ human capital? Cite exam;
0

g
dlit

arguments,

u%mmﬂ'uﬂmffzﬁ%wm’fﬂ'mu%mﬁﬁwc

Y

Ul AT
T oem e A e B I gl
|

Huar

Wé}:
Wﬁ'fm%mmﬁwm‘l:
& *mw’ﬁﬁazﬁz#%ﬁ—mm

An Cntrepreneyr h
OPerational side as
Management. Di
Productiop proc

gt
demd
48 to understand the 'deofen:

. ide 0"
well as environmental

t
. Anme’
, 1ron
SCUss this in terms of env
esses,

OR

Write Notes op-

.
(a) ImPOI‘tancc OF Ploes v .
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5 (ﬁ)uﬁmﬁaﬁw20%%m“&mﬁ’[w%
3 COGS . 1,20,000 B W F&F AW qay | 2
ﬁmm&ﬁﬁzﬂ’mﬁ%mm%?
it sy faar T A w 7,000, BIEY N fay ,
H W FATH E 6,7001 & AW HT9E
it

(1) ffF e sgael @ @ @ @ v
JeEwn widd qwEg|

5. Write a note on advertising and publicity. Also disc
application of Product life cycle.

OR

Write a note on:

(a) Tender marketing

(b) Negotiation with principal customer.
B SRR W o o) gem S ww A
RIS G Y

{1 HAAdr

i (%) B fagrr

‘I (|) @ e ® wa Aer-
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.. What requires in the management of sy, Enterp,
' . T PTlgey
professionalism, Discuss thlS Statelncnt in the COnte
- ‘%Zt
lack of professional management approach i pi, Y6
ST Ay,
OR
Business succession planning never comes in the agend,

proprietary and partnership business p

articularly in g,
businesses. Discuss.

agsﬁ%ﬁmﬁwﬁmaﬁﬁawmzﬁm

a—ﬁﬂ'ﬁﬁwmg&ﬁw%m%w?fmmmﬁm
QIS

HAqar

ﬁﬁww%ﬁﬁmﬁfﬁ,wmﬁmﬂj
TR S e v @ v ¥ e 21w A

ioni . : : —
Designing businesses is one of the important dimensio?

Operation management. Elaborate the statement and exp
with examples,
OR
(a) Write 1 note on inventory methods.
fidd

(b) Briefly €xplain In

planning & contr

roducti
Put-output analysis under P
ol.




0
Mﬁwmﬁm%m@ FEE X ¥ v R
ﬂwﬁwwaﬁﬁqqa‘maﬁamﬁﬁm

N GI
(ﬁ) m—@ﬁm R feoqun WI

(@) S, A T8 Peaw & sl 3ge - s9eye @ ga
¥ fawewor Hhifsre)

(2) Explain the benefits of internet browsing in the context
of generation of business idea.

() In what ways modern office is different from traditional
office?

OR
(

2) Write 5 note on Office manual

(b) Use of spread sheet in office operations.

) o A e e o e i g T
AL
=) WW,W&%W%%&W&?%?

MR §
P.T.O.
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(@) i fEet w R fafeg

(@) @i gaeEl A B We & Iegh

{.  (a) Why there is a need for preparing a Bank Reconciliati
Statement.

(b) Find out Debt-equity Ratio from the following,

Equity Share Capital 50,000 shares of Rs. 10/- ey

% Debenture Rs. 10,00,000, Retained Earning R
50,000; Profit & Loss A/c Rs. 1,50,000;

(¢) What is the utility of calculation of Financial Ratio:

OR

V (a) Find out Profit when a trader sells goods @ 20%°
Sales from the following:

Opening Stock Rs. 20,000; Purchases Rs. 1’40’033

Salary & Wages Rs. 25,000 Factory Insurance RS'IO’OO

Carriage Inwarg Rs 8,000; Closing Stock Rs. L
(b) Lease Financing

. ow
(¢) Explain the Concept of operating profit under CaShﬂ
Statement by giving €xamples.
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Write notes on:
(a) Consortium Marketing

(b) Managing Distribution in a Small Enterprise.
fqu F IR WEER & SIUROT Ud WiERIehdr @t o
AT
(F) wema @ R (Fi '
(wiiféaw wrenfe)

(@) 79 3= ¥ Rwor vy @
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S. No.. Particulars

)

(i)

(1i1)

(iv)

merce branch i Karam Wit
On 31st Marcp, 2014 thej, Pur

showed a debit balance of Rg. 1,54,300. 4
bank Bank A/c In Zenith Traders’ books
showed a different balance on that date. T
were the reasons for the difference.

North Delhj.

OWever. th

Amounts, (Rs.)

Cheques deposited, but not 75,450

yet credited by the bank

“ Cheques issued, but not yet 80,760

presented for payment

Bank charges not yet 1,130

recorded in cash book

(
Cheques received by the bank 1,35,20

directly from trade debtors.

. 15’400 |
Payment of water, electricity

and telephone bills by the

SRR T IS



32

prepare a Bank Reconciliation Statement to find out
the balance as per Cash Book as on 31st March, 2014.
(10)

(b) Ascertain Gross Profit from the following information.
You may either prepare a Trading A/c or use the

equations for calculating cost of goods sold and profit.

S. No. Particulars Amount (Rs.)
Opening Stock 40,000
Purchases 2,80,000
birect Expenses ' 20,000
Indirect Expenses 45,000
Closing Stock 30,000
Sales ' 4,00,000
Sales Returns 8,000

(3)
OR

Enter the following transactions for January 2016 in the
Journal of Smardihi Traders. Prepare Cash A/c and

find out Cash Balance at the end.
P.T.O.

.
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2004  Transactions

Ry,
Jan. 1 Started business by investing Cash 7s
00y
Jan. 2 Purchased goods from Anita for Cash 400y,
Jan. 2 Purchased goods from Atulniya 75,000
Jan.5  Returned goods to Atulniya 3,000
Jan.7  Part payment to Atulniya 15,000{;
Jan.7  Cash Sales 45,000 |
Jan.8  Sold goods to Charulata 45,000
|
Jan.9  Goods returned by Charulata 2~OOO,
17,800 |
Jan.10  Charulata pays S
Discount allowed u
; o Y
an.15  Samridhj withdraws for personal use ’
F'Ild ollt |
Jan.17 Charulatg makes the ful] and : |
final bPayment of the balance due )
(
from her

o
I 154,300 T7 w1 e Ay i AT



5

32
& @ dedl ¥ dF WA 39 RAE W W smeme i
Zgfar ATl 36 AR & DU FEfoRaa o

PRI L gl (%)

() s fru T A%, dAfFT I 9w dF 75,450
W B A8 g W I

(i) W AT M, ofRT IRR T EE 80,760
¥ T 76l [y T A

i) WA ¥ o am R @ | 113
fFe M@ dF wRI

(iv) ¥ g 99 =R IER A W= 1,35,200
e g e

(V) Y& R FRW D IER A, 15,400
REe va 2w el @ sy
THE W & FFER 31 AR, 2014 H AW A FA H oI
I T - R d9R AR

()

Wﬂm%mmmaﬁﬁmmﬁmaﬂ
T TGH B A o vy @ TReET W B B a |

PTO
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Ta4dq 49

FATEAE 494

AR AT

@ amga

45,000
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2004

7 ]

GG 8

2

10

15

17

Aq -2 e (%))
e AW T @R Awew o 75 000
F A AhE WA H A @=NE 40,000
I ¥ A @A 75,000
Fgear & A ar| R 3,000

FgeaT S AE T 15 000

e fafat 45,000
TEAAl HT AT S 45,000
eIl 0 99E fehar i A 2,000
ARATT A el 17,800
I BT 200
e =@ swEm & o Fed w @ ? 5,000

ARAAT U THAT AY T YU S A e

P.T.O. !



LB

332

2.

Explain the following:

(a) Meaning of fixed assets and the Sour
ces

- : of th
financing
(b) Meanings of leasing and credj rating seryjce, (,
OR
Distinguish between the following™
(a) Product and Product life cycle (7
(b) Advertising and Publicity

fFfeifem & = St
(F) wart ofdafeadl vd v Rk @ @ @

(@) 92 W J vd IuR-wm Pigkor @ @ 59

(1

(7

"Y:J

/1)
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Y
3
iy the meanings of consortia marketing and tender
:, qurkc‘i“g with special reference to micro, small and medium f
2[;(crpriscs (MSMESs) in India. (15) |

OR

Clarify why entrepreneur is regarded as the most important
source of human capital in an — entrepreneurial firm. Discuss
how this capital may be preserved through intergenerational
succession planning? (15)

W X, WY AR Ao S @ Rl wef ¥ wdffm R
@ R Rovm & o we S

SEEN

W FIR 5 Je wd ¥ IR A W o e s
B T A B e R B s SRR A @
T R W AR A e R wRE R o w2

- State the salient decisions
tak

ho

, that an entrepreneur needs to
ec : . :
oncerning sales and distribution management. Discuss,

w 3 . : B . .
" ), m. your view, an entrepreneur might benefit from digital
arl<t=t1ng channels? (15)

OR
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)
(oo
9

Discuss the merits and limitatjopg of g

Cekip
a ¢
S S 1scuss what s g,
startups. Also Discuss hould ap €ntre eprene,
to attract and retain talent in a budding ey lerprigy

.
ﬁaﬁ@ﬁwmﬁ?%mﬁwﬁmmm%ﬂ\
T o w3 ¥ g s
faque Sl @ R ¥R AN TS W s 2

S REN

Wmﬁ%wﬁmmﬁ%m@@w@ﬁf
HoQ g & =t DR F TRy T F vvER @
FH IR TR @A D T I w T ST TR

5. Attempt the following:

‘aee SN
. . e buslnebb»
(a) Clarify the meaning of return and risk in B

ani
. & S ofﬂl
the sources of business, risks and the way 0
these.

. ripes

' ) o L= wlth P "

(b) Discuss how may prior negotiation . s
a

re u 7

customers assure the entrepreneur of reg (

and stable stream of revenue?

OR
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r the following:

‘\ﬂs\\'e

o) Clarify the aspects of receivables and inventory
management that an entrepreneur may be advised to be
aware of. Discuss how higher turnover ratios of

inventory and receivables have an impact on risk and
return in business? (775
2)

b) Discu °
(b) ss how an understanding of consumer behaviour

/ )

iR = s AR
, SRR T T O Y R AR-10 T

(@) == R 16 T WER 2w o el e ) Ryt

T 4 O™ vE R oy
Wit RGEe
TEA 2| e o

(m)mmuﬁ!ﬁqﬁ@m 2 : -
. o 2 “ﬂaﬁﬁ
mimrﬁﬁﬁﬁﬁwﬁaﬁmam’ 5
qEA B
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2

3 o e 3
Following is the extract of 3
! ’ ‘ an FTU R
Traders in respect of Aty Narayan .
y d

Enter these 1,
accounts and find out (}e balance

nt ()f ’.v *

. SUpyn | el

Chandra, a Customer. "Ppliey and,.
it

duc te g
Narayan and Chary ¢}, o,
y U Chandra respectivel,
{1,
2004 Transactions T~
Jan. 2 Purchased goods from e |
Sty
Atul Narayan
—
Jan. § Returned goods to Atul Narayan 3
Jan. 7 Part Payment to Atul Narayan 1500
Jan. 7 | Cash Sales 4507
Jan. 8 | . Sold goods to Charu Chandra 450
Jan. 9 Goods returned by Charu Chandra ‘/‘
-S'
Jan. 10| Charu Chandra pays b *
l
| Discount allowed. /‘
; " ,‘w,uf"
4 Jan. 17| Charu Chandra makes the full Find
* and final payment of the
4 balance due from her .‘
L S

OR

§.

'f i
4 (a) M/s XYZ’s Cash Book showed 4 different balaniookss
l \ its Bank Column after COmparing with the Bank P25°
- ‘ri

i
1
i

Y

U
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as on 31st July 2015. Prepare a Bank Reconciliation
statement considering the following transactions occrued
during the Month of July 2015,

(i) Balance as per cashiBook as on 1-7-2015 Rs.
3,08,600.

(i) Cheques issued as on 15-07-2015 but not yet
presented for payment Valuing for Rs. 20,000/-

(iii) Cheques valuing for Rs. 35,000/- were directly
deposited by a debtor to the Bank without giving
information to our A/c Department.

(iv) Cheques deposited but not yet credited by the
banker Rs. 40,800/-

(v) General utility bills were directly paid by the bank
as per given directions Rs. 8,200/-

(vi) Interest charged by' bank Rs. 400/-

(vii) Income Tax Refund was directly credited into the
bank Rs. 30,000/- (10)

(b) Distinguish between Cash Account and Cash Book.

(5)

TR A, T iR vE e W, O U @ d9 ¥ W
w%ﬁq‘ﬁaﬂﬁlﬁ?&ﬁﬁﬁﬁdﬁﬁlsﬂ%mﬁ%—ﬁﬁ

P.T.O.
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safic Ry o . G T e e
\

AT TG A %
2004 - .ﬂﬁl(g}
W 2 | g AT ¥ AW @ a
S5 | W AREW w A quE Tm
W 7 |. IR ARG R OSARES EE 15900;{‘5
. ~

. 7 | e fafer 45,000 |
V.8 | U UT A R fa s |
_

W9 | 9% U1 SR AN fhar war A 21!00/;’
{

W10 | TR U SR a2 7|
3 |

2.

S| WR T Sed wwr AW Wm’;
U |

T T A e et 2 _—

e |

e

(%) ¥ XYZ R Jos 78 & dr e F T
31@!‘520153%%%@?&1!@“@20'5;@“

W R Pl - A AT E

ﬁﬂwﬁmeﬁﬁ{q.

A



(i) qFT T F FTEAR 1-7-2015 | IV 3,08,600 T

(i) feis 15-07-2015 T T AHT 3T § swew 2
WA el &Y W dw S @ 20,000/ - T R

(iif) 35,000/ - % T & UF THER SN AR oRaT W
H THER Ry i @8 dF ¥ 9 = o

(v) w0 f e AT Yo T o N IR T R
AT IF 40,800 T

(v) = em e gl el w0 e Ry e R
& FTER A8 W Ra oW 82,00/- ®

(Vi) 9% =7 wRe =t 400/- %

(vii) mm%ﬁﬁﬁ%ﬁzmé’rﬂfzﬁaopow-ﬁ
(@) & o vd I 9@ D 9 iR a9

- Explain the following :

(a) Impact of cheques issued entered in the Bank Column
of the Cash Book but not presented for payment on the
respective balances shown by Cash Book and pass Book.

(7%)

(b) Impact of Debt: Equity ratio = 2:1 (that is debt is two
imes the equity) on a firm’s long term solvency. (7')

OR
P.T.O.
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=)}
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Distinguish between the following ' /
(a) Trial Balance and Balance Sheet (T%).
(b) Fixed Assets and Current Assets (Thh)

ffafes & = HikT:

(%) ﬂmaﬁ%%mmﬁwﬁﬁaﬁﬁﬂwﬁqmﬁ
mmmaﬁwmaﬁ@wmmmw
AN W NE|

(@) wd = Seiats RO MU S W OH: 3R S
™ = 201 (e o Sfad it gorm ¥ A 2)

AAT
fefag & S AR TaEy
(%) IT-AHU T qoA 9=
(@) =@ igufa g9 = aReata

(U8}

Clarify the meanings of sales & distribution management.

The self-employed person who procures biscuits, rusks, buns
and matthi (Salted pancake) from bakery, loads the sack-
full on his moped and supplies these to roadside tea stalls

of a defined territory, in your view is a sales man oI a|
distributor? Give reasons for your answer (15)'.
OR

g its

(15)

. . - S
Clarify the meaning of consortium marketing. Discd
utility for small businesses.




134

Mwmwaﬁﬁwmlﬁ%ﬁwﬁ,w,
o o T (i ) W I e R
R 1 a BT 89 B i e R T g % gy
¥ S N Tl wFahE atd JIe gt § fRar @ o

NI

IAfE & == SR

. State the characteristics of management of human resources
in small business. Discuss the ways in which small
businesses might attract and retain talent. (15)

OR

“Product life cycle implies that the entrepreneur should

continually innovate so as to remain forever in growth

stage.” Elaborate this statement by drawing and labelling

the various stages in the product life cycle. (15)
ﬁ%wﬁWWWﬁﬁﬁmmn ¥ AR

ﬁﬁﬂﬁﬁqmm@%wuﬁ%ﬁﬁfaﬁsﬂaﬁamm
W TN w® gy ¥

3reqar

;Naﬁmwmaéﬁm%ﬁ;wﬁaﬁaéaﬁmaﬁm
R S e e S

| P.T.O.
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Rty srenstt @ R % vF T R T e

5. Attempt the following:

(a) Show how Return on Investment (Ratio) is key
integrated ratio analysis in as much as it integr

profitability and efficiency ratios? (
(b) Describe briefly the term ‘consumer behaviour’?(

OR

Answer the following:

(a) Describe briefly the issues involved in management
cash. (7

(b) Discuss the meaning of entrepreneurial self-renev

(7

f=fafaa = s ST

(=) =afsg fo R @ Afawa (3a), I & E . B
Qehlehd aﬂmﬂﬁsﬁwaﬁaﬁﬁ%,ﬁ{mﬁ;qgm
Zeral IO F GEEA w87 B

(@) ‘Sl wEER’ T W qEAT A ST HHAQ

ITAar
frfaRag &1 IR A
() ﬂﬁ%uﬁfm%fmﬁwvﬁfaﬁifévffmaﬁm|

R A s B 1w I 1N |
(@) ST« (300)
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